Model Question Paper (Preliminary Examination) for revised syllabus pertaining
to the recruitment to the posts included in Combined Civil Services
Examination -1II / II A (Group - II/II A Services) (Hosted on 01.11.2019)

eOEglaambs Gumoluafsegnéstars Csie) - II / II A (Ozr@gsl- II / II A uenflsdr) - Qe
wsad pPeows GCsrallpsrer wmpflumwsstiui,  umnsSlLsslnsrer  wrglfl  allamgser
(01112019 Syeiry uSICauppd GFIwLILLLF)

1. What are the characteristics of “rote learning” ?

(i) Does not allow the learner to associate himself / herself with

the surroundings.
(ii) Infuses rigidity in the thinking process.

(iii) Allows the learner to dynamically adapt to the changes in the
surroundings.

(iv) Improves the questioning ability.

[A] (iii) only [B] (i) only
[C] (i), (ii) and (iv) only [D] (i) and (ii) only

Qurmeneamyosd sHns@Mu uarludyse wrame ?
() spuai saemars shifluerer GLRCNH @EEElmanhg CFwdUL
T MEANIIEA
(i) pgléen yapuled Gnésworer samoen 2L LGS518Ing.
(iii) spuaenté gYFlaa&Canu GsLTHg 25Caswnss saramarn wrHilés
AL Lo T TREAEEATE)
(iv) Gaerall Csl@ Spmer gig)afs8ng).

[A] (i) wLED [B] (i) wlEb
[C] (i), (i) opged (iv) wC@D  [D] (i) whgd (i) wED
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2. Which one of the following is the best anti-dote to superstitious
beliefs ?

[A] Scientific Knowledge.

[B] Scientific temper.

[C] Untested and un-proven knowledge.

[D] Strong faith in the long held ideas.

Naamauaapdled wL pollsmssmssna s afluwrer asly wmbs g ?
[A]  nlallue gyley.
[B] yflaflwed wariumbe.
[C] guabse 2l upssiuLmg winw Belssiuns Smey.

[D] feiiL srewrs QHHE u@b aarartsedle Bsrer FuLéms.

3. What are the characteristics of “Scientific temper” ?

(i) Questioning others’ ideas irrespective of their social position.
(i)  Analyzing others’ opinions.
(iii)  Applying logic.

(iv) In view of others’ social position, accepting their ideas without

questioning or analyzing them.

[A] (i) and (ii) only [B] (ii) and (iii) only

[C] (iv) only [D] (i), (ii) and (iii) only

2 of 120



Iiflaflued weariumkigler uaiLlwedyser wrene ?

() wppansalar smsgssmar Jeaufsallar saps Bl
QurBLu@ssmoed Caerallsgarernsseug).

(i) wppansaiear smsgssmer ugLumie Galeg).
(i) sréasms LWaTLHSS 6.
(iv) vppefsdler smsgssmar Jeafsallar saps plaeula smyarons
Caarall CaLlamogud, LUEUUMle Qsuumogb goms Csndeg.
[A] (i) wpmd (i) LLED [B] (ii) whmwbd (i) LLED
[C] (iv) wLLEW [D]1 (i), (i) whmbd (iii) LLED

4. The reason behind the spectacular brilliance of diamonds and
twinkling of stars is:

[A] Total internal reflection [B]  Total external reflection

[C] Partial reflection [D] None of the above

o saramars say Agrafliuspew, olamnieased WlaaausHEn smemb :

[Al  pw S8 aslQprefliy. [B] ©ww yn agl@yrefliy.
[C] u@Es agl@ynefliy. [D] Cupslu aamaub Goma.
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5. Assertion(A):

Reason (R ):

Some sea turtles (loggerhead turtles) return to their birth

beach many decades after they were born to nest and lay

eggs.

The turtles can perceive variations in magnetic parameters
of Earth which memory helps them in returning to their

homeland.

[A] (A)istrue, (R) is false.

[B] Both (A) and (R) are true and (R) is the correct explanation

of (A).

[C] (A)is false (R) is true.

[D] Both (A) and (R) are true , but (R) is not the correct explanation

of (A).

i (A):

snrewrd( R ) :

flo sLa G mwsa @rajhap sLd yeow yoa nhs
sLpsrCupd - Ue gy arhasel  Upgh  apg
wLeoLulpaamnar.

Symwsar grsag Unps sLpsmawus sarLflu yallssms
2(BULSSSD aad (papaws amsunErslapar. Qb
S ambser LaGan QLriisale shslyaaeambamu 5lamaalld
Qsma@nd o eamLwme. Q5 Jma FTWESZNES
SGELYABHE 256i81Dg)

[Al  (A) &1fl, speormeb (R) au).

[B] (A) wpgd (R) @rawr@id &fl, Goenid (R) eteitug) (A) allb@
sfluner aflandswn@L.
[C]  (A) sau, speomed (R) &1l

[D]  (A) vpg (R) @ram@id &, gyeummed (R) eteotug (A) allh@ sflwrer

NGETI
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6. If a single nail pricks our body, it is very painful. How it is
possible for the people to lie down on a bed of nails and still

remain unhurt ?
[A] Because the area of contact is the same.

[B] Because the area of contact is less.

[C] Because the area of contact is more.

[D] None of the above.
fn gyl pog eLmad gaoasew Cury adlaw earmglGCpmd. g eamed for
S @fll ufémaule URSSTYL JaTEEHEES THsL LTSILLD gHuBaugdmaby
- erliug?

[A]  gOerafle Qygar Qgmh Lyl swld.

[B] gQemafled Hygar Ganf Liy Gampey.

[C] gOemafley Hygar Qgnh LTl glsL.

[D] CGupamlu ageflome.

7. When you go for a ride in a merry-go-round in amusement
parks, you will experience an outward pull as merry-go-round

rotates about the vertical axis. The reason for this is :
[A] Centrifugal force [B] Centripetal force
[C] Straight line force [D] Circular force

QurgCursgl yrsralled goL @Qrmiyeassled shnvburg, oL Grrigearnd
e Oengssy yFasuupd speb Curg, srd @n CeaeCrrédlu glasua
ghupL Quelimsamu oarrglCprd. HFHarer sTyawd ag ?

[A]  eovw alwég aflams [B] aww Cprég aflans
[C] CpiCGar @ allans [D] &pndl aflens
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. The element which is a constituent of chlorophyll and gives

green colour to the leaf of plant is :

[A] Sodium [B] Copper

[C] Potassium [D] Magnesium
srardgler Qaasdr uFms Fpwrs QEHUUSHGS STraWLIEN, STASE6
uFmsusEled odrer 2 Cansw :

[A]  Gamguwid [B] smdlyd

[C] Qumirélw [D] Quéardlwib

. Silver metal is a white lustrous metal. Over a period of time

silver articles becomes black - Why ?

[A] Carbon dioxide gas in atmosphere reacts with silver to form a
black coating.

[B] Hydrogen sulphide gas preserved in atmosphere reacts with
silver to form a black coating.

[C] Silver reacts with moisture to form black coating.

[D] Silver reacts with nitrogen to form silver nitride, which is black.
Qauerafl, @@ @efipd OQauaramwwura 2Corswrgb, yeamd prisd Odsdes
Qsave, Qauaraflufler Flpd sEHUUNS LYY Far ?

[A]l  Qeueref], aiellvamrgsler e arer snuar el Iy smsR)

anyaar aflemearyfig, LY Blpwrs wiysng.

[B] Qauerafl, auaflvairagsle o6ar ez plyger sdeU@ eumyeyar

allneryfBgl, s®mUY Blpwors wnEpg.

[C] Qauerafl, smhmled 2.drer mriussgLar aflameryflbg, s

Blpwrs wryslng.

[D]  Qevarefl, aueflwaiievggle 2.drer enpLlygayLer Campg Geudrarfl

apLerLrs b, sGLUY Blnsamss &Halang.

6 of 120



10. Which of the antibody that provides early diagnosis of Dengue
and the virus which causes Dengue is called :

[A] IgM and Flavivirius [B] I4G and Flavivirius

[C] IgM and Togavirius [D] IgM and Alphavirius
Spssar_apper Ognés pleauiGatu QLEgallmams saflu 2
aglmiQurmar whgw CLrGallmer 2 ar_ré@w amared eg?

[A] 1M wpgyd dlemall eneurad [B] I,G wpgw Nermall evaured

[C] IgM wpmyd CLrar eaured [D] IgM wpmid Syeur eareb

11. Under which category Pencillium does come ?
[A] Algae [B] Fungus

[C] Protozoa [D] Bacteria

Spssar_apmer Quarflaflub aps aumsmus Emmpsz ?
[A]  unélaa [B] yeems
[C] @@ Qe 2ufif] [D] uréefwn

12. Which disease is transmitted through saliva and respiratory

droplets
[A] Mumps [B] Measles
[C] Flu [D] Small pox

aps Comunergl e Wlpiir whgd sars frsg e safleamsd Lyedlpg ?
[A] QurerayéeE eirig) [B] sLLibenio

[C] -l [D] #leanendenio
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13. Which one of the following is considered as Chemical messengers.

[A] Enzymes [B] Vitamins

[C] Minerals [D] Hormones
Spsanaumasad Caglulud Qsiglsma @l mTsaTss sHSILOS Tg?

[A] Qprglsen [B] eaLLdase

[C] Wlarpaser [D]  aprjCunarsan

14. Imagine the following hypothetical situation:

(i) Putting together all the plants of the plant kingdom on the Earth.

(ii) Putting together all the animals of the animal kingdom on the
Earth.
Thereafter weighing (i) and (ii) separately
[A] (i) and (ii) are of same weight.
[B] (i) is heavier than (ii)
[C] (ii) is heavier than (i)
[D] None of the above

et spuamanuner guploa @lés fbglssew
(i) gyululled eerer srarsEhLLSSl Jymarsgd SrauTtsmenyd eanrss Carss
Coiaid.
(i) gl cerer alloBgs GOLUSSE Joass ealoBGsmayd @aDIsE
GCess Geuamm(Ld.

Neranit (i) wpyid (i) Y slwapmlar aasmas saflssalCu sarssl(n durs :
[A] (i) wpmwd (i) Y Grav@n @ty am_ullmeard O&maiyHéELD.
[B] (i) @ar eranl (ii) Qe arenLenw afl yFl&wrs QméEL.

[C] (i) @ar aranL (i) Qar arenLanwallL Hygswrs QEHéEL0.
[D] CupsaiL aamaub Gaoame.
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15. The largest reservoir of phosphorous in the biosphere is
[A] Atmosphere [B] Rock
[C] Ocean [D] Animal body
Spssar_amasasd Quimsuled urebuyed arE Igls eralled srariu@alpg ?

[A] auafloarrLewb [B] umenn

[C] &sL& [D] alloB@salar 2La

16) Recently we read in newspapers about the GM crops. What is the full
form of GM ?

[A] Genetically Marketed.

[B] Genetically Modified.

[C] Green and Moisturous.

[D] Globally Marketed.

Sarewuled pmd Aswgl srarselled GM uuljser Gflsg LgsZHUCLTD.
GM aarugar alliflandsd eraran?

[A]  wruay FEluns sHamaLULEASESW.

[B] wruam wrHmUUCL

[C] u&ew LHML FLD.

[D] ewsarallu shmsliLbsss6.

17) The Nobel Prize (2019) for Economics has been awarded to
Dr. Abhijit Banerjee and two others for their experimental approach
to:
[A] Eradicate black money.
[B] Strengthen the International Monetary Fund (IMF).
[C] Eradicate gender bias at work place.

[D] Alleviate global poverty.
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2019 -gyib yairgear Qunmerngnysslnanar Crrue ufla Dr. gl unanyg)
LHnd Qoanse Sefsag aps Csraumiey JymGuapulea Qur®LE

QUPESLILLLG?

[A]  sgoyl uem quiliy.

[B] uaramml@ uam FlEludms aiiCup Cawse.

[C] Caeae Qeuyd @Lrselid urdlar urguraL @uflsse.
[D] ewsarallu agamoeau LLALUESSSD.

18. The Tamil film “Asuran” is based on the acclaimed novel “Vekkai”.

19.

The author of the novel “Vekkai” is :

[A] Su. Venkatesan
[B] Konangi

[C] Poomani

[D] Choodamani

s Senyls LLner 'arar LsROLDY 'Qausms ' aaud Lysasms
SlglumLwnss QsrarLsn@h. Qausms ' aaub yslasgar oAy :

[A] & QamsCLaar

[B] Csremms)
[C] ywenf
[D] @Lrwenf

The telephone number allotted for 24 hour “"Women Helpline” in
Tamil Nadu for immediate and Emergency response to women
affected by violence is :

[A] 108
[B] 181
[C] 888
[D] 208
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20)

SUPHT I eucipenpwred LNSlESILEL OueisEnéE 24 werll CErwbd 2L ey Jeusy
egall apiis ayfl aams Qelyw Asraatud esally S Lsslpars ggéaILL e
QzrenaGu#] e :

[A]
[B]
[C]
[D]

108
181
888
208

According to "The Sexual Harassment of Women at workplace
(Prevention, Prohibition and Redressal) Act 2013"”, sexual
harassment includes :

(i) Physical contact
(i) Making sexually coloured remarks

(iii) Demanding sexual favours

(iv) Showing pornography

Which of the above is/are true?

[A] (i) only

[B] (i) and (ii) only

[C] (ii) and (iii) only

[D] All the above

uelll_tsefled QuairsEnée aglyrer Lrellud Feaymsssd ( SHOY, s wHyd Siey)
FLLD 2013-@air L. uneflued glepsse erayd QFned o arersalug) :

(i) 2Lmad QFTHH
(i) gursd sabs graLiGués
(iii) uraflwed Csmeusenar FlanpGaudn auiLmissise

(iv) Qumsl LLEsmaE &TL(\ge
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21)

22)

Cupsmapmer sflurag/ma ag/ame ?

[A] (i) LL@D

[B] (i) LHmID (ii) LB

[C] (i) LHMILD (iii) WL HLD

[D] Gm&ami! Si6063T&HGILD

Which one of the following is not the aim of ‘Digital India’ ?
[A] Paperless governance

[B] Person less governance

[C] Encouraging intermediaries

[D] Cashless governance

Spsar_apyd ag wdllLd @glur-aflar Cpréan eohe?
[A] &n8l5ld @aars Iy EhHms.

[B] waflzTaer @aang oy @mams.

[C] @Lgsrsiaemen 2as@allsse.

[D] uemsldang oy eHemas.

The port of India which has quick access to Suez Canal is :

[A] Mumbai
[B] Kochi

[C] Chennai
[D] Kolkata
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gwad staarawu Goapps Corssla QsapaLwyn plaould ymobgeda QHglwus

gmpWsL agl?
(A)  (pwenu
(B) (&n&d

(C) Qserenen

(D) Qamaassm

23) Which State is called the “"Fruit Bowl” ?

(A) Punjab

(B) Himachal Pradesh
(C) Meghalaya

(D) Karnataka

abg LIPleL “uwé SlaTard” T JYampssLLpalng?

(A)  u@hsml

(B) Qurésal UrCgew
(C) Cuwsrewr

(D) shprL&

24) Under which category of roads does the Zojila-Kargil road of India fall?

(A) National Highway

(B) International Highway
(C) Border Road

(D) State Highway

@iglunalle e drer Cengllan - srigle srene aufiflmas snbsg 2

(A)  Gsdlu AppEsmama
(B) uaramlf QpR&aname
(C) aa@maULns st
(D) wrple OBHEETme
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25)

26)

27)

" Rupay Card services ” were launched by :

(A) National Payments Corporation of India.
(B) Reserve Bank of India.

(C) NITI Aayog.

(D) None of the above.

" 6L Lo Cemeuser ” wrpme) QSTLESILLLE ?

(A)  @iglu Cadlu Oequsgse spaL.
(B) @nslu Memal aura).

(C) B8 g,6wné.
(D) Cupsmlu aamauslodama.

Which of the following is incorrectly paired ?

(A) NEFT - National Electronic Funds Transfer.
(B) IFSC - Indian Financial System Code.

(C) RTGS - Real Time Gross Settlement System.
(D) ECS - Emergency Clearing System.
SpsarLapfled ag saprsl QurmssUuLRereag 2

(A) NEFT - Ggélu Wleraray plg) uflwmhpib.

(B) IFSC - @bglu plg) Simwiys GHlE.

(C) RTGS - eaienw Gpy Qr§ss Sieus SjaniliLiser.
(D) ECS - Sjausr &1 Steis pen.

Who was the Chairman of Indian Space Research Organisation
(ISRO) at the time of launch of Chandrayan-I ?

(A) Dr. Mayilsamy Annadurai
(B) Dr. K. Sivan

(C) Dr. G. Madhavan Nair
(D) Dr. K. Radhakrishnan
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28)

29)

shglprwar-1 aflaveniley gauiulL Gurg @bglw allartleuell g rmisds swssslear
OIS QMmBbSaT wriy?

(A)
(B)
(©)
(D)

wevareulr wufledams) gjamamngeny
peoaai Cs. flaar
(penareult ¢l . TSaUET BT

wevareut Ga. yrgngmedamei

With which of the following is Arunachalam Muruganantham, an

Inventor and Social Entrepreneur associated with ?

(A)
(B)
(©)
(D)

Low cost electrical motor vehicle.

Non-stop water motor.

Low cost sanitary napkin.

Highly efficient solar batteries.

san@Ulglurermn, sepss Qsmfle yaaCanmora  yEamTEFAD WEHETAHELD
aeruai aamn aauppLer Ogriamweir ?

(A)
(B)
(®)
(D)

GanHs allme Wleasny aunsad

@eLallLmoed 57 @onsEw QuBslTd

GanHs allme allLmissma SjemeamuremL

ewiglpar Gflu Wlarsomser

The Union Government is making efforts to connect the
unconnected parts of the country. What is the name of the airport
opened at Sikkim in the year 2018 as a part of such efforts?

(A)
(B)
(©)
(D)

Bagdogra
Pakyong
Hubli

Belagavi
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Bhauer grs Qgamy JamarsslLLTE FIia UGS smer Qeaariugharen
pwplaemar Cupbsrarfamelpg. ssmeu @@ pamsmasuns 2018 b @6

flagldle glpsdsiiucL eflorer plenawsgler Quuwir ereien?

(A)
(B)
(®)
(D)

uréGLr&ym
uréGurs
anpLiaf]
OQuesrall

30) The “"Green-Gold” Mission of Government of India is associated with

the promotion of which one of the following?

[A]
[B]
[C]
[D]

SpssaLapper  @iglu  rdlar  'usmss  sESL

Herbal Plants
Green Vegetables
Bamboo

Green Corps

Cowupsgeugier QsmiyemLiwg?

[A]
[B]
[C]
[D]

wllanad Sreunmiser
uEnss smisfser
LEARY

ugewLl uwiser

agb Sl agmen

31) In human races, which race is said to constitute “white people” ?

[A]
[B]
[C]
[D]

Australoid Race
Caucasoid Race
Mongoloid Race

Negroid Race
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walls Qamisalle aps Gard 'Qaudimauisd’ aaLaismas Qsnei.msdps?

[A]  Sevlpremni@) @ar
[B] &rm&snif) @ard
[C] uwrRCsTOTIE) @arbd

[D]  férmi Qemd

32) The largest tribal group in India is :
[A] Nagas
[B] Todas
[C] Santhals
[D] Gonds

@igluraller sl Quilu LGy Qe :

[A] Br&f&er
[B] Carisen
[C] s&Mhges&ar

[D] Ganer(paar

33) Identify the place in Tamil Nadu where Mangrove forest is
absent :

A) Pitchavaram
B) Kodiakkarai
C) Vedaranyam

D) Mamallapuram
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SU1PEML 6 sZUUD@E sTR&6 Jenwwltuprs QLims JenLwnemd Sreis:
A)  Ulésmaurd

B) Gamgussey

C)  Geaugremrud

D)  wrweeyfrw

34) Which of the following is responsible for the continental
climate of North India ?

A) Vertical rays from the Sun.
B) Slanting rays from the Sun.
C) Its location away from seas.

D) Its location on the plains.

aL @bgluralléd Hlaaw saiL sraplmasg SpsaiL @3 smyemors
2 arang?
A)  efluallLilphg Qengss 887 eiés
B) @fluallLsimpg snieyésslielss
C) sLasaaallL() allodl yamwhgea @sar JHamwallLL
D)  swQeaflser Wsrar @6 emwaflLLd
35) The fast flowing river mouths have this landform :
A) Delta
B)  Estuary

O Alluvial Fan
D) Meander
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Caus W@glyLar umyn <omé syflpsiugslsa @iples Comppsslmens

Q&remr(ereren :

[A] QreoLm

[B] GumEgL (psLd
[C] aairLa allflgemp
[D] Qpeflwrgy

36) With which of the following countries does India share the
longest border ?

[A] Myanmar
[B] Bangladesh
[C] Pakistan
[D] Nepal

SpsaiL aps BT Qe @bglur s ferorer adeamull uElTHg Qstdalng ?

[A] Blurerof
[B] aunisner GCgew
[C] unglebgnan

[D] Gpumerd

37) Where does the river Kaveri break into two channels viz.
Coleroon and Kaveri ?

[A] Mukkombu
[B] Thiruverumbur
[C] Thiruvanaikkaval

[D] Thuraiyur
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sréaifl g n aug Aardefl wppw séai) aa Qrai@ Uflesems Nf&pg?
[A]  p&Qambdy
[B] 8lmOaugbuyr

[C] glmaunaandaneuc
[D] glemmui

38) The new entity after the merger of Air India and Indian
Airlines is called :

[A] National Aviation Company Ltd.,
[B] National Aviation Corporation of India Ltd.,
[C] National Airways Company Ltd.,

[D] Indian Airways Corporation.

g @bslur whpd @bIuer giamaea Flpauatsma Yomarsg LF5ns

@RS MaTESLILLL Flpeerd :
A)  Ggélu allorers Curd@eurss Blyeuand

B

—

@iglu Caélu allwrar Curs@ardgd sQsLb.
C) Gsdlu amaraufll Curs@aursg Bmeuend.
D) @islu anereufls spai.

39) Which of the following statement/s is/are true in respect of
Solar Eclipse :

(i) It occurs on New Moon days, when the moon is between the Sun and
the Earth. Thus, the Moon obscures a part of the Sun viewed from the
Earth.

(ii) It occurs when the mythological ‘Rahu’ swallows the Sun.
[A] (i) only
[B] (ii) only.
[C] Both (i) and (ii)
[D] None of the above.
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£y Qan@aésiul Geaerapper Gflu drapemd Osr_jurer sflurer sy / shpser
gl e

Sjwrarasuam, Gfluasen Llsgn GaLuled epglrar aumn Gung
@iplspe goupalng. uQurws yludmbg srand Gflualle g
L@s shglrama weapssiURSIDS.

Lyremd seanssefle e @rme Gflumen alYhGaustd ghupang.

[A] (i) L QL.

[B] (ii) LLEL.

[C] (i), (i) p&w Qram@id

[D] Cupsflweapdle argayd Gome.

40) Which one of the following is not a precautionary measure that
we should take before a cyclone ?

A)
B)
C)
D)

Going to high-lying areas from low-lying areas.
Jewels and documents to be kept in safe custody.
Those residing in old buildings should remain there.

Battery-operated radio, torch lights, lamps, kerosene,
match box should be kept safely for use.

80 Qar(ésliL(ereraupper oyl Lwed aumausp e Hrd Copbsrerer Coamrg.L
perdarssfléans pLaims Qoma?

[A] smpeurer uggWllmbg 2 wieurer LGZE@E Cadeug).

[B] pansaer whmd Spearmsmars ungasmiuner QLsgled ameagze.

[C] uepw &L $81e audliuaiser HECECL sralullmsse.

[D] Blarsassned Qurg artaned, msdlaallase, alleaé@aser, elameren e,

SUOULy g dluapanl uwauhsgause AUIGLE LTFSMILTS Mmaudse.
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41. Identify the metal which was used to make the dancing girl
figurine of Harappan culture in Indus Valley civilization from
the list given below ?

[A] Bronze [B] Brass
[C] Gold [D] Iron

fibg sl praflaggler anyluum LerLmige Brigwl Quedm o e
Qumberwreng), SCp AsnhéslLlRerer g 2 Caradgred QeuwiLlLg ?

[A] Qeuanraeld [B] Ulgzemer
[C] Qunan [D] @y

42. Why is India called an " Ethnological Museum " ?

[A] People of India belong to different genetic race.

[B] People of India speak different languages.
[C] India has different land forms.

[D] People of India follow different religious.
Anslur “@earallued ymREsTLAUSDL” aar gar YapsslLpsng ?

[A] @bgluiser QaciCaun Qarsenss enihgaunse.

[B] @igluiser QeuaiCeugy Gumgflaeners Cuaslarpent.

[C] @Bslur QeciCeauny Bl Syenwliysamars Qamam(erang).
[D] @pglwiser QeuciGauny wamisamarls ey s arer.
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43. Which among the following was the most important source of

subsistence for the Harappans ?

[A] Agriculture [B] Pottery

[C] Craft producation [D] Trade

Neraumaaappyed ag apriur pay wéseflear Uapidlpe Wls wésu
Comppeuruns efleriglug ?

[A]  afleugmuid [B] wluneiLmisdr 2 huss)

[C] esalloarl QurgLse 2)ussl  [D] aifsssw

44. In the 'Darasuram’ temple built by Rajaraja-II, incidents from
which one of the following literatures are depicted in the form of

miniatures in the walls of its sanctum sanctorum ?

[A] Kambaramayanam [B] Mahabharatham

[C] Periyapuranam [D] Kandhapuranam

@rarmd Qyrgrng Gempemed slLlulL gmrapd Camdlafler smaumps seupfle
Spsangyd aps Qasdlussler plapasda GpeHPuniseams augss0UL Oearer. ?

[A] swuFTLTWETLD [B] w&rurysLb

[C] Quflwyyremd [D] &g yramLd
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45.

Which factor/s led to the emergence of towns in the Gangetic
plains ?

(i) Agricultural surplus

(i)  Growth of crafts.
(iii) Growth of trade.

(iv) Growing population.

[A] (i) only [B] (i) and (ii) only

[C] (ii) and (iii) only [D] All the above.

suamss swbaelule parmsed Csnerp 5rrumrmrrsurgj/mm Grgj/crmeu ?

[A]

[C]

(i)  Geuermewr 2

(i) ess0gmflaseflar euanj&s]

(i)  auaflagglar aueriyss]

(iv)  QuEdsQanaiymps wése O5mams

(i) LLED [B] (i) whmbd (i) wLED

(i) whyw (i) wLED [D] CGuCawerar SjenarsgLb
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46. Jaina influence is strong in early Tamil literature. Which one of

the following is not a jaina work ?

[A] Naaladiyar [B] Pazhamozhi

[C] Jivakachinthamani [D] Manimekalai

uprstas 6P Gasslussled swar sousSlar STEsD aQans 2 dag).
Spssar_apged soar Qasslud Jdasrg g ?

[A]  praguwny [B] wypQumg)

[C] é&aus £lbgmoen] [D] weafGusme

47. Which one of the following is not correct about Buddha ?
[A] He did not mention about God.
[B] His teachings are full of descriptions about God.
[C] He did not accept inequality based on one’s birth.

[D] He neither accepted nor denied the existence of God.

Spésar_apyd Usserd upflu seprer spn g ?
[A] S sLeyeertt upm) @l afldene.

[B] SjaumenLw GCurgenenser Jyenardgid sLayeners Lpmlw
QU(HETEN NS N6 (65T 6Tia. (5 S ar.

[C]  dpudler gpliuemLulorer sowpn (panaw el
ghm&0snearalldena.

[D] Sjaui sLeyaflar @mlenn ghnséesnerara)slodame
nsssa)ldma.
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48. The rock cut shrines at Ellora and Elephanta belong to the period of

[A] Rashtrakutas [B] Palas

[C] Sathavahanas [D] Chalukyas

aaGemr wpgw adlduaiLr goLauars GCardlasd aaumaLL sTOSmsE

snhgenal ?
[A] predigreL a6 [B] urejser
[C] smsaunsanyser [D] en@néaluisan

49. Who built the world famous " khajuraho ” temples ?
[A] Chalukyas
[B] Chandelas of Bundelkhand.
[C] Rashtrakutas

[D] Bahmini Sultans

2.@&l Uspaupp 'seerrCapn ' Canalldsmers sl gwaifsed Wi 2

[A]  en@néalwiser
[B] upCseaail s5Cseisem
[C] prebigranLfser

[D] umdlafl segnenser
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50. To which period the great literary works of ' Kamba Ramayanam”

and “ Periyapuranam ” belong ?
[A] Chalukyas [B] Vijayanagar Empire

[C] Later Cholas [D] Pandyas

Quad Gesdlull uaLiysemer ‘sbugmomnued' wHL ‘Qufluyyrerd ' o dwea
ThE STVSLLEMEE &FihHsamau?

[A]  sn@néalwiaer [B] eflgupard Cupys

[C] Upsras Canpirae [D]  umemrgwisar

51. Who hailed the Pandiyan kingdom as the richest and the most

splendid province in the world ?

[A] Ibn Battuta [B] Marcopolo

[C] Hiuen-Tsang [D] Fa-Hien

uremigw 9rs eaglCatu Wsaw Csdaus AsfliyLgb, HPUswrer HPELab
STemlILQL UGS eranl LSPNTd Gl wmf?

[A]l @uler ul@Ln [B] wrj&CarCurCan

[C] weurar Geunm [D]  uremlwnen
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52. Which one of the following Governors of Madras presidency gave

53.

attention to education and regarded any expenditure on it as ar
investment for whom a statue was erected at Chennai in 1839 by

public subscription ?

[A] John Erskine [B] James Thompson

[C] Thomas Manro [D] Arthur Havelock
Spssragd Qseianer wratew S Erpiselled sdallég @sslusgan IelssgLer
Sgpanar Qsoaflamsmer psdLres smIlu emarfla Plaeaarst Qurgwésd

aprslu piglows dsrar® 1939-gb el Osaamauled fow FlpaiucLy ?
QU wmy?

[A] snar erfavalan [B] Ggubed smbLievei
[C] snmwed warGpm [D] o757 Canelans

Use of animal forms in pilasters and columns including rampant

horses and leogryphs give a distinctive character to which one of the
following architecture ?

[A] The Dravidian style.
[B] The Bundalkhand style.
[C] The Orissan style.

[D] The Harappan style.
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sgrsgnanaed, &f aybd @glarsd wpgw wunfsd pEluapler warT@ Spssram
abs fijussma papsg seallsgaorer samvan aptGSIng ?

[A] glgrallL @penp
[B] ubCaaaami (panp
[C] @flabevr wenp
[D] apFuiLer (e

54. (i) The sound system in this language is rich in retroflex

components.
(ii) Its varied vowels distinguish it from other languages.

Which language system is described in the above statements ?

[A] Dravidian languages.
[B] Pali language.

[C] Prakrit language.

[D] Sanskrit language.

(i) @is Cumflullgerer @all Jenwiifle) aumarprOanells sapser WlEglurss
snamliu( & epar.

(ii) @ser LGy amsiulL 2ulQrysgésd Ulp Qurdlselldlmis Qms
CapuPssls s @alamar.

Copsaflu sapgsd aps Qundlowul upd allaflsdlaper ?
[A] glpmafl. Guomgdlser
[B] urefl Gumg
[C] Npr& s Quomy)
[D] sweabglHs Qumg)
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55. Assertion [A] : Majority of people developed interest in Bhakti

literature.

Reason [R] : Bhakti Saints composed their verses in the language

best understood by the people whom they taught.

(A) [A]is true, but [R] is false.

(B) Both [A] & [R] are true; and [R] is the correct explanation of [A].

(C) [A]is false, but [R] is true.

(D) Both [A] and [R] are true, but [R] is not the correct explanation of

[A].

apn (A) :  Qu@arflutar wésda uss) Qesdlunsdled Bsrar gy Tusms
QU6TT$) 0 senreny.

smpemd (R): udgyl Quéss gnallad, smoreflu wssellar QumPuNCotL shs6
Lr_cseer Gwniflamysa.

[A] (A) &fl. gama (R) saugy.

[B] (A) wpmw (R) %ﬁm @ram@ &l wigw (R) eaaug (A)-allpg sfluren

afleré&LnEL.
[C] (A)gaum. pamed (R) &
[D] (A) wpgd (R) g &lu Gram@u &fl. syamad (R) aerugl (A)-allpg sflurar afleréswaa.
56. Why do we need Constitution ?

(i) To restrict the exercise of power by the Modern State.
(i) To get membership in the United Nations Organisation.

(iii) To check the tyranny of majoritarianism.

From the above, select the correct answer :

[A] (i) and (ii) only

[B] (ii) only
[C] (i) and (iii) only

[D] (iii) only
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B&EG gar JyrFluaemwliys s L aeap gap CsmaLupEpg ?

(i)
(ii)

paler Syréler sy aupbysmer sLOSG maés.
o8l prhsear yemeauled e glifeamns.

(i) Quewurerawarsssla CarhrCsramwawus 5H&s

[A] (i) womb (ii) LD
[B] (ii) L@
[C] (i) womwb (i) LW
[D] (i) wLED.

57) Which article makes special provisions for the State of Nagaland ?

[A]
[B]
[C]
[D]

Article 371-A

Article 371-B

Article 371-C

Article 371-D

rdlue  srsarsglear apsl Ulfley preaensgy wrplesslng Apliys seyessemer

UPEESIDg ?
(A) WQifley 371-A
(B) Wifley 371-B
(C) Wifley 371-C
(D) Wfley 371-D

58) By which amendment the Tamil Nadu Reservation Act of 1994 was
included in the 9*" Schedule of the Constitution of India ?

(A)
(B)
(®)
(D)

76" Amendment
78™" Amendment
77" Amendment

79" Amendment
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50108 QLegsdl (& s L - 1994 aps yréluamwliys Slmssssla mab @bslu
Srfluaamoliyd siLsgler eaugraug L Laumarlad CerdslilLg?

(A) 76 ag 3lHssw
(B) 78 ag slHsswd
(C) 77 ag 3lHssw
(D) 79 ag 3lHssw

59) Match the following :

a) Family Courts Act 1) 1976

b) Equal Remuneration Act 2) 1987

Q) 'IA\ll(élecent Representation of Women (Prohibition) 3) 1984

d) Legal Services Authorities Act 4) 1986
a) b) C) d)

(A) 1 2 3 4

(B) 4 1 2 3

() 3 1 4 2

(D) 1 3 2 4

Spsar_aupapl QuTEwSgs:

a) GOWLU po BElwamF FLLLD 1) 1976
b) &b cargluF slLLD 2) 1987
c) Quemsemerd sanns Fsnssa (FEHIL) 3) 1984
FLLLD
d) Qoas slil ueflser gy marégws sLLb. 4) 1986
ay b o d
(A) 1 2 3 4
(B) 4 1 2 3
(C) 3 1 4 2
(D) 1 3 2 4
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60) Match the following :-

a) 86" Constitutional Amendment Act
b) 92" Constitutional Amendment Act

c) 76™ Constitutional Amendment Act

4) 66 Constitutional Amendment Act

a) b)) ¢ d)
(A) 1 2 3 4
(B) 2 4 4 1
() 3 1 4 2
(D) 4 3 2 1

Spésar_apepl QUIGSHS :-

a) 86 aug SyrEeLLF sLL SlHSSL 1)

b) 92 aug SyrEemliLE &L FlHSSHD 2)

c) 16 augl SrsemwliyF sL Z(HS5L0 3)

C - 4)
d) 66 aug SyreembLLF sLL SlHSSL

a b C d
(A) 1 2 3 4
(B) 2 4 4 1
(O) 3 1 4 2
(D) 4 3 2 1

1) Made elementary education

fundamental right.

2) Included four more languages in

the 8" Schedule.
3) Included the Tamil

Reservation Act of 1994 in 9%

Schedule.

4) Included all Land reforms Acts of

States in 9" Schedule.

Qsm_sss soall OUpsD gluenL
2 MenwnésLiucLg).

aiLreg  SLLeamarifld  Guog
pren@ Qunglser CstdaliulLg).

1994 g el  HUlPHIE
BLegsd s siLD Qe
S Lamaniflad CsrdsiulLg.

o) s aflar e gl Bled
Erg\msss SLLEMSGE@HL  @eTLSTAS)

S Lauamariled CerésliLlLg.
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61) By which amendment the "Right to property” was removed from the

62)

fundamental rights ?

(A) 44" Amendment
(B) 32" Amendment
(C) 43" Amendment
(D) 42" Amendment

aps Irflueanlys FHssE siLsdlar  amflars Gsrggfon  SgliuamL
2 flenwuled @mHa BésrLLLg ?

(A) 44 aigl 3lHSSLW
(B) 32 ag slHsswd
(C) 43 ag slHssw
(D) 42 ag slHSsL

The idea of secularism in the Indian Constitution prevents :

(i) Domination of one religion over others.
(ii) Domination of some members on other members of the same
religion.

(i) Enforcement of any particular religion by the State.

Which statement given above is / are correct ?

[A] (i) only

[B] (ii) only

[C] (i) and (iii) only

[D] (i), (ii) and (iii)
Qiglu grflueewiys sLggled giludl iul@eder wyseniilaen ey
aH5ENsa0 Spssa_apge aaupaps s058ng ?

(i) @@ wsbd LHY weEsE Cod Y slEsd Asgsgums.
(i) @Gy was8lhEa Hor vopaisd By Y glésn Ceqsgaums.
(i) or& @@ GUNLL wssms adlhgy FaLwanl URSSaums.
(A) (i) bR
(B) (i) wL @b
(C) (i) womb (iii) L
(D) (i), (ii) whm (iii)
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63) Which of the British official is behind the award of “"Panchami lands” in

the then Madras Presidency ?

(A)
(B)
(©)
(D)

Ash
Tremancre
Robert Clive
Arthur Cotton

SLGurmsw Qsarmer wrstansgled 'Lgsd) Plomsmer ' aPRGEUsHES STramOns
Aebs NMlhey Sgiael wrf ?

(A)
(B)
(®)
(D)

%2
Liflorens
FTUTL &enerel
QTS ST @l

64) Who was the Prime Minister of India when the government
implemented the recommendations of the Mandal Commission
paving way for the reservation of 27% of the posts under the
Government of India for the Other Backward Classes ?

[A]
[B]
[C]
[D]

Mr. Rajiv Gandhi
Mr. Moraji Desai
Mr. V.P. Singh

Mr. Chandrasekar

@pglu Spdler §p oater usaflaelld @sr Npu@ssiuiL agillamss 27
allpéar® QLessdh ayphs ams Qsiybd werd guelda uflbgarsma Iyrs
QewaupszluGurgy @ssluraller Slyswrrs @mpseui wri ?

[A] 8\@. Tndal &3]
[B] 8. Qumyrg) Caemi
[C] 8@ all.U)l.él@

[D] 8\®. &englrCesiy
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65) “"Political democracy cannot last unless there lies at the base of it
social democracy which means a way of life which recognizes

L

iberty, Equality and Fraternity as the principles of life”. Who said

this ?

(A) Pt. Jawaharlal Nehru
(B) Periyar E.V. Ramasamy
(C) Dr. B.R. Ambedkar

(D) Dr. Rajendra Prasad

“&5H3\Td, Fdgieud, sCansrsgad ydluapmp amnpallda Jyuluams Car_urfsams
IuEaflEgh saps gapusd aayd Ipssemd Qomatusd Hyrfud gaprusssnd

B

(A)
(B)
(®)
(D)

& Quarg " aad sflual wri ?

uaig . meuaniard Gh
Quiflury m.Ceu. FrosmLo)
weaaai .oy HoCusE]
weara] TrGynsly Ulyens

66. Which feature of the Indian Constitution stipulates that it shall be
the duty of every citizen of India to develop the scientific temper,

h

umanism, the spirit of inquiry and reform ?

(A) Fundamental Duties.

(B) Fundamental Rights.

(C) Directive Principles of State Policy.

(D) Preamble

OLEA
Silafl

grflueemwliyé sLLsgla abs e eadarm QBSWE  Ggamanyl
wed werlumkE, waflgCHwL, gclpul.r_'r)g,gﬂmb Calens, &7g8HssLW %ﬂmmﬁ)mm

aeryégs Qanarer Couam@ aar auallymssieng?

(A)
(B)
(®)
(D)

Sl LILINLE SLENLOGGET.

SlgliaL 2 flamwaa.

Sras Qardrensullenar ApMOLESFL Camur@ser.
(p&ajeny
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67) i) In

the subjects enumerated in the

both the Union and the States can legislate.

i) In

the event of contradictions between

States, the State’s authority will prevail.

Which of the above statement/s is / are true ?

A)
B)
C)

D)

(i) only
(ii) only
Both (i) and (ii).

None of the above.

“concurrent list”,

the Union and

(a) Qurgil ulgwafled @uNLuuC@erer gopsd g wsFIW LHYWL LIFIQ HyFas6

Qrem(GL L Quppemd.
(b) @5 OsrLiurs wsslu YrfHEL wrple yrAHGD FaLCu wrarur® gHuEL
Qursg wrple yrélar HglamGn GCuoGarmEgLb.

Cule srariu@b sppseio sfurag loa ag / aaa?
(A) (i) wLEHWD
(B) (i) wLGW
(C) (i) whmw (ii)

(D) Cupsai aamauslodama.

68) Which of the following is not included in the concurrent list of the
Constitution of India ?

(A) Education

(B) Forest

(C) Police

(D) Trade Unions
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Spsar@eaaraupger g Q5sIu Srfluemnliys slLjgla QgL ulipweld G

Qupalldea?

(A)
(B)
(®)
(D)

saall
QLD
L)

AELIIEELE D)

69) Who among the following headed the committee established by the
government of Tamil Nadu to analyse and provide recommendations
for restructuring the Centre - State relations ?

(A)
(B)
(©)
(D)

Dr. A. Lakshmanasamy
Justice P.V. Rajamannar
Dr. P. Chandra Reddy

Justice R.S. Sarkaria

Spsrariufuaisefled, sUPErH Sre wiZw wiFle epasdld wrpprsd Qe
Qsrijurs gyue Qaug, uflpgarsd aprEy urGL Jowss Gyalpe smeaw
SRS Wey wy?

peaTau] .o earend)
pelwrer L.afl.prgwarany
wevarauiy Ul.spglrm Gl
Balwrss o f.aad.sféamilun

70) In which of the following cases, the Supreme Court of India delivered
a landmark judgement regarding the use of Article 356 of the
Constitution ?

(A)
(B)
(C)
(D)

Indira Sahwney case.
S.R. Bommai case.
Minerva Mill case.

Kesavanantha Bharathi case.
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Srflumemwiys siLsglar fley 356-g uweaL@sgeg Ostjurs 285 HIlwepd
aprdlu s pislusgad anips Sy Spssrayd abs apssld aprsILLLE?

71)

(A)
(B)
(€)
(D)

(a)

(b)

@islyr rCear aups@
aa. Q. QUMb apsE
Blareur e aupse
Casamanss LMTS) Q&S

Villages were classified according to size and mode of
habitation in Jain and Buddhist literature.

The religious orders founded by Buddha and Mahavira
observed highly democratic procedures in arriving at decisions.

Which of the above statements is / are true ?

(A)
(B)
(©)
(D)

(a) only.
(b) only.
Both (a) and (b).

None of the above.

(a) swew wHYH Uss Qosslumselsd doprised Jepmlar ey, edllfLgger
sarenn gy aluapylar SgluamLuld amsuLpssuLar.

(b) ussy wpm wapreiryred CamhmalldsiuiL sow Qpflad Waasmar Tl Heaugld
CobulL geaprus aflpapsmens saLLillssar.

CuGe srariupb smpgsae sflurag/oa g / aoa?

(A)
(B)
(©)
(D)

(a) wLEwW.
(b) wL(w.
(a) womw (b).

CopsearL aeaw]sldame.
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72) The Gram Sabha meetings are held four times in a year. Which one
of the following is not among the four dates ?

(A) January 26
(B) May1
(C) November 14

(D) August 15

glymo sus sl LBsd gailan® Yyar@w srag @weon prislu@slapar. S0y
Qar@ésiu Qarereupmer sl L1d FnLOUD auFUNSSILLIS Brel erg)?
(A) gaaifl 26

(B) G 1
(C) paubui 14
(D) saL 15

73. Recently, the State of Jammu and Kashmir was bifurcated into:

(A) Jammu & Kashmir as State and Ladakh as Union Territory.
(B) Ladakh as State and Jammu & Kashmir as Union Territory.

(C) Both Jammu & Kashmir and Ladakh as States.

(D) Both Jammu & Kashmir and Ladak as Union Territories.

Saanwufld, gow & srdy wrFlaw @rer@ ugglsamsl NfsalULLS. e

(A) gy & sregdy wrFlawIse, OLTE aflu o EmasELIULL UGS,

(B) QL& wiplenraa)b, gow & sr2wly eamflu o Emas@lulL UGSlunsab.

(C) @by & sregd wHML OLIE Y&l QravEd Wiy msemsea.

D) gbe & st wpgd aLté Yalu QrarEl el I EHMEEELILLL
LGS SaTTSayLo.
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74) i) "“Panchayat Raj” is the most important revolutionary step in the

context of governance of rural India.

ii) The foundation of “"Panchayat Raj” was laid by our first Prime
Minister Pt. Jawaharlal Nehru at Nagaur in Rajasthan.

(A)
(B)
(®)
(D)

(a)

(b)

(A)
(B)
(®)
(D)

Which of the above statement/s is / are true ?

(i) only.
(i) only.
Both (i) and (ii).

None of the above.

s @pgluraller 9 As Galle “LgsTuss " aeLg Wa
wédlworer YrLéar pLeugEmsWTGL.

prgabgner wiplesgle oerer praflad Bog @wsed Loy gl pauapiered
Com  Safsamed  “ugstugg prR”  yeoullpsrer  Jrdgemd
SIMWESLILLL§].

Cube srariu@b apgseisd sflurag/ama ag / ama?
(i) L.
(ii) WL G,

(i) wHmd (ii).

CuopseaiL ereneuw|slcdene.

75) i)Individuals should receive respect and reputation on the basis of their
achievements and talents. It should not be on the basis of their social
identities.

ii) Inequalities and discriminatory practices which prevail in the society
are artificial and are known as prejudices.

Which of the above statement/s is / are true ?

(A)
(B)
(C)
(D)

(i) only.
(i) only.
Both (i) and (ii).

None of the above.
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(@) gafl puisdr smaey srTs@marser LHNYL slpewsalar Yy luamLwCatw
parogliy wpmw pHCuwert QupCaemmhb. g sws oL wnatisaflar
SigiueLufler Qmass sLng.

b)  FPsrusSld  Bleew gHpssTpeysar LHMWY  UMFULELIE  HEDL(PMDSET
Qewphenswrarenay. IiMe, 2.aT@LEMA  JITWIS  STTATGSTE  6r(PLd
sLCUeemBser eran SyMwiL@8lepan.

Cue srariL@b sppseio sflurag/ma ag / ama?

(A) (i) wL(LW.
(B) (i) WL
(C) (i) whmw (ii).

(D) CupsarL aamaulodama.

76. Which organization prepares the estimates on physical capital

formation ?

[A] Central Statistical Organization [B] Census Department

[C] Planning Commission [D] Finance Commission

u@LOUTEHer wasasms IIOUIE Cswyn yenoliy ag?

[A] wsslu yereflullwed Blmeuand. [B] wéser Qsmenad samd@ahlLd
glenp.
€] flLseg 0] Plée
77. Match the list I with list II and select the correct answer

using the codes given below

List I List II
(i) Monetary Policy (a) Bank rate
(ii)  Fiscal Policy (b) Margin money
(iii)  Credit Policy (c) Tax rate
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[A] i-b, ii-c, iii-a [B] i-a, ii-c, iii-b

[C] i-c, ii-a, iii-b [D] i-c, ii-b, iii-a

uligwed I whgw II-g Qurwss) 86 Qsrhésil(erer sflurer afleLaw

Cairey i,
UL lqwed I UL lqwed II
(i) uewé Qanarens () amg agb
(i)  plgé Qanerens (b) Qms BlenaLliemid
(iii)  sLar Qametens (c) el alldlgw
[A] i-b, ii-c, iii-a [B] i-a, ii-c, iii-b
[C] i-c, ii-a, iii-b [D] i-c, ii-b, iii-a

78. Which is /are the objective/s of a sound “Agricultural Price
Policy”?
(i) To protect the farmers from exploitative practices of private

traders.
(if) To ensure fair prices for the produce of the farmers.

(iii) To ensure adequate and regular supply of agricultural
commodities to the wholesalers at reasonable prices.

[A] (i) only. [B] (ii) and (iii) only.
[C] (i) and (ii) only. [D] (i) and (iii) only.

agiara Cueraran eflmaé Qsrdmsuld @féCand/sd wrg/urama ?

(i) saflurt aellstsellar srar_adselle nmbg allasmnfsmer urgsmiLg).

(i) ellasmnflseafler 2hussll QurEHLsErsE plumubrer aflme aptiGams 2ns
QgwiZe.

(i) Plumuwrer allmaulld Corss aamisiseEnrse allasmull GumwLsemer
Gungorer Syerallgid, AsTLiédlunsab aptEoums 2 nsl6sizm.
[A] (i) wl@uw. [B] (i) wpmw (i) wLED.
[C] (i) womwbd (i) LLED. [D] (i) womwbd (i) wLED.
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79. Which one of the following is a Non-banking Financial Institution ?

[A] State Bank of India [B] Central Bank
[C] Life Insurance Corporation of [D] Indian Bank
India.

Spssar_aple ans yoars Flg fpaean ag?
[A] @Bglw eadCLL eurig) [B] eww el
[C] @bglu e smidL(é spawd [D] @igluer airia)

80. The Cash Reserve Ratio is fixed by :
[A] Reserve Bank of India [B] Canara Bank
[C] State Bank of India [D] World Bank

Qrrés @muy afl&lssems plramun QFleug:

(Al @b8lu flstel auris) [B] saenym cumig)
[C] @pglu aCLL aurs) [D] 28 ama)

81. What is deflation ?

(1) Increase in the general price level.

(2) Decrease in the general price level.

(3) Stability in the general price level.

(4) Both1and3
[A] (1) only. [B] (2) only.
[C] (3) only. [D] (4) only.
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LemaurLL L erenpred ereirer ?

(1) Qurg allae BLLD HFaMs50.
(2)  Qurg el LLLD Gmpge.

(3) Qurg alla LLLD LIPTSHSSE.

(4) 1 whmyw 3.
[A] (1) wLEb. [B] (2) wl@u.
[C] (3) wi@w. [D] (4) wLQ.

82. Which of the following is / are the objective/s of Monetary
Policy?
(1) Exchange rate stability.

(2) Price Stability.
(3) Full employment.

(4) Economic growth.
[A] (1) only. [B] (2) only.
[C] (2) and (4) only. [D] (1), (2), (3) and (4).
Spésa_apper LansOsrarmsular Cprésn/ Corésmae ag | wrama ?
(1)  pleawrer wrpy afldswb.
(2) oalloa plaadseamb.
(3)  »u Caummamiy.
(4)  Qurernany eueriaé).
[A] (1) wLEWD [B] (2) wl{w

[C] (2) wpgd ) wi{id [D1 (1), (2), (3) wpgid (4)
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83. Which one of the following is not directly related to fiscal policy
of the government?
[A] Taxation.
[B] Government Expenditure.
[C] Lending Rate.
[D] Budget

80y srawiupy Qamsale aps ey yrdar Blgls QararasCur® Coyywrs
QgrLimfadarsg?

[A]  aifl aflgluy,.

[B] Srsé Osallamisae.
[C] sLen aflglsL.

[D]  apey-Qeaed s L.

84. Which of the following are associated with land reform measures ?

(1) Abolition of intermediaries

(2) Tenancy legislation

(3) Ceiling on land holding

(4) Co-operative Farming

Select the correct answer using the codes given below:
[A] (1) (2) and (4) only. [B] (1), (3) and (4) only
[C] (2) and (4) only [D] (1), (2), (3) and (4)

Spsser_apged flaF fiZlmss pLaksmssCan Gsr_ijmLLeama dama?

(1) Qarsgrsismer @uflsse
(2)  plesé gssmas s LD
(3) ple 288 apby

(4) &LQU uarenem Geuetmamento
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80y Qarpssuulpaaanddmhg sfluraanmpd CsTH0sHESL

[A] (1) (2) wpgd @ vl [B] (1), (3) whmwd (4) wLE
[C] (2) wpmd @) L [D] (1), (2), (3) wpmid (4)

85. Goods and Services Tax (GST) isa:

[A] Direct Tax
[B] Wealth Tax
[C] Indirect Tax

[D] Professional Tax
sré@ wHpL Csames aufl (GST) aaiLig) :
[A]  Cmmyg eurfl

[B] Gaeda eufl

[C]  wepys afl

[D]  Qsmfled aul

86. What would be the direct impact of simply printing more rupee
notes without focusing on other economic measures?

[A] It will lead to price rise.
[B] It will lead to price fall.
[C] It will lead to un-employment.

[D] None of the above.

Ny Qurmertgmy pLeugsmssmar GCopbardaumss sTliyad 9gls Sjarallena
Leawgsrsemar S&syliugned ghufn Corywrer allamerey aarareurs @maeLnh?

(Al @3 all@a ginsslhe alfl agsew.
[B] @3 alloa dpsflég alyl agseiwb.
[C] Bg Caae anilfdamwse ayl agsew.

[D] Copsai eeameuwsldame.
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87. Indicate the fundamental economic activities of an economy:

[A]
[B]
[C]
[D]

Production and Distribution
Production and Exchange
Production and Consumption

Production and Marketing

@® durmerngny Senwiler QrliuenL Qurmerngmy pLoubmssmard
eflues -

[A]
[B]
[C]
[D]

2 HUSSYd L&TeyLd

2 HuGSlywd uflorpnpd

2 pusSd  [&Fayd

2 pusglyd  sHsILEGSSID

88. What is a Non-Performing Asset?

A)

B)
C)
D)

It is a loan or advance for which the principle or interest payment
remained as due for a certain definite period.

It is an individual’s asset which is not yielding adequate returns.
It is a social asset like Railways which is not performing.

It is an immovable property which cannot be sold as and when

required.

QewauLrF Q&rrggj aapne ereiar ?

[A] @@ sLafler Ydag werLamssler eCar yoag alyCur g
aarunssiUL 105510 Blamaufld Gmlug.

[B] Gurgjwrer aumeaurs Qup Quers e saflsuflar Qersgg.

[C] QewauLrs @muylureng Curarn @@m CungEansg).

[D] GCsamauiu@d Gurg allps Quers en ymewuns Qsnsg.
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89. What do you know about Informal Economy in India?

[A] Informal Economy contributes to approximately 80% of the total
employment distribution and to approximately 50% of the G.D.P.

[B] Informal Economy contributes to approximately 15% of the total
employment distribution and to approximately 90% of the G.D.P.

[C] Informal Economy contributes to approximately 40% of the total
employment distribution and to approximately 25% of the G.D.P.

[D] Informal Economy contributes to 99% of the total employment
distribution and to 95% of the G.D.P.

@pglurafler wepamynl Qurmernsmyd updl Pelii Sifleug wrg?

[A]  epanyrl Qurgertsnrdslar uksefliurearg Quorss GCemaaumiiiyL
ugljafled gné@ampw 80 aflsstrsad Quwrss oaprl@ epusglule
gné@eapw 50 afllpésrLrse)d 2 arerg).

[B] enpanyrl Qungertsnrdslar umseflliLmerg Grés CamaamiiyL
uglrafled gné@apw 15 allpssr_rse)d, Cwrss e apr @ epuszlule
gné@epu 90 afllpésmrsabd o.derg.

[C] epanyrl Qurgertsnrdslar URsefliureang Quords CeumaaumiiiyL
ugdlraflad gné@apw 40 aflgssrLrsab Quorss eaprl@ husglue
gné@epu 25 afllpéasmrsa)bd o erg.

[D] enpanyrl Qurermsnrdglar URseflliureang Quorss CeumaaumiiiyL
uglyaflad 99 aflssmirseyd Quorss eaprl@ pusglule 95
allp&amLnsa)b 2 arerg).

90. Putting money directly into the bank accounts of the poor through
measures like “Jan Dhan Yojana” results in :

[A] Depletion of scarce resources.

[B] Demand revival and economic growth through “multiplier
effect”.

[C] Increasing corruption.
[D] Maximising government and minimizing governance.
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“gagar slILLD”  Gureip pLegsassellar aurdlons Corgurs geopsdlle amdls
samégsalled uarsglomeas Qssgag a5)E aflagie ?
[A] Siflsrer auethisa Gaphgl CuTusH®.

[B] Qumss allaerallar amuflars Caeme e manésn whnw GuTGermgmy
aeanEs gHLpausHE.
[C] eapéd HF\aHLILSHE.

[D] 8ls Syaraflaner JyrsmhEwWd, GonHEs IJarallarar Iy Emsyd gHURUSHE.

91. The first attempt at introducing a representative and popular

element in administration was made by:

[A] Indian Councils Act 1892

[B] Indian Councils Act 1919
[C] Government of India Act 1935

[D] Indian Councils Act 1909

pirarssgled Uyglplgsgea wimd Gurg waser smibs spsamear Siflpsn Gy
w5 pupdurs JuopiulLs sl :

[A] @iglué sayeiddser sl 1892
[B] @Bslué seyandledaer sl 1919
[C] @Bslu yrsmhas sl 1935

[D] @bglué saeadlasar sl 1909
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92. When was the first time that the British used "Commonwealth”

instead of the usual “"British Empire” ?

[A] During Cabinet Mission

[B] During Simon Commission
[C] During Cripps Mission

[D] During Mount George Commission

Sudle grs apssorst vuau@ssd Nlke Gurrs aausHEl uglans
‘smociQaucds’ eyl Qemdene erLIOLINPS WH&r WSONEL LWELHSSLS?

[A]  Syewésyena ggis@waller Qur(ps
[B] eswer @aller Qurps

[C] &fluad grgé Guallar Quripsl

[D]  vaeil gryg @wella Guns

93. What was the first challenge in the political sphere faced by the

“Women's India Association” ?
[A] Right to Property [B] Right to Education

[C] Right to Re-marriage [D] Right to Vote

“@hglu Quaisdr Jewly” Yrflud sarssled FH3155 W Fauned eg)?
[A]  Qsrsgiflenw [B] sdall 2flend

[C] wywemrd Lyl 2flew [D] anégfenw
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94. To create a class of people “Indian in blood and colour, but
English in taste, opinion, morals and intellect” was the intention

of :

[A] T.B. Macaulay [B] Henry Vivian Derozio

[C] H.S. Olcott [D] Raja Ram Mohan Roy

“@rssssign ppsslad Ghslupmsaid, pemanlle, s@5510, gussapglsda,
Sflalle g uslCourrsap Qméew @@ wisda dflaflamy o @ursgs
Caair@" ey Cpréasmss QaremLeu :

[A]  ..QwsamCa
[B] Gewery) aflafluar QLCrrélGun
[C] Qané. eab. gyadar

[D]  @qrgnymd Corser gmu
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95. Identify the reason why Mahatma Gandhi went on a fast unto
death at Poona in 1932,

[A] Failure of the Second Round Table Conference.

[B] Issue of Communal Award.

[C] Refusal of Viceroy to commute death sentence of
Chittagong Armoury raiders.

[D] Government’s refusal to release political prisoners.

1932 g1b yar® yamalled smpglugser sT@L ey eararrallyzid
CuopQarerers smyamd ergibleucns seir(enis.

[A]  @redLneug el Guang wrpriger Caraal.
[B] a@uy e eflaw QeaflflLiulg).

[C] AlLam gussslmig ysalmsliunaisehse allglésiulL
wrem sar_eaarea yrsll Lrslnlg) Gapés LNSsS.

[D]  Srélued emsglamer allfsama Gaiw ors LYSSS.

96. (i) The British had to appease the Indian nationalists and the
outcome was the passage of the Government of India Act -
1935.

(ii) This act provided for greater power to the local governments
and the introduction of direct elections in 1937

Which of the above statement/s is/are true ?

[A] (i) only. [B] (ii) only
[C] Both (i) and (ii) [D] None of the above
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(i) udCaurserée @bdlu Csfluanglamar FHUIUESES Geuairgw
Bloo ghulLg. osear OeefliurGL 1935-g b Syamger @Hglw

S|TEMEGE FLLIONEGLD.

(i) @slLd, oeamiél Srasense Isle Islemd  apmSluGsrp,
1937-g b gpargad Crrgs GCaigemauyn ynlwsd Cswusg.

Cule srariu@b sppseie sfluramg/ma ag/aama?

[A] (i) wL(@w. [B] (i) wL(@u.
[CT (i) whmbd (ii) [D] CGupseiL aemeasldma.

97. Birsa Munda led a revolt against the British in :

[A] Chotta -Nagpur region

[B] Ganga-Yamuna region
[C] Himalayan region

[D] North-East region

Urer weirn apsl ugsldlmpg QuElCoursamar aglisgil yrid Qaugn:
[A]  Geriir - préyi ugglulamia
[B] smms - upoa e G5s
[C]  Qurewd ugglldmss
(D] aw- dlpse uedllldphs
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98. (i) Brahmo Samaj denounced polytheism, idol worship and the
faith in divine incarnations.

(i) It condemned the caste system and superstitions.

(iii) It opposed widow remarriage.

Which of the above statement/s is / are true ?

[A] (i) only. [B] (iii) only
[C] (i) and (ii) only [D] (ii) and (iii) only

(i) Nybdw swrgn, ue sLad aglur@®, eme aglur, sLeyefla eaugmEse
Bgren pufléms g sluapmp QaeflliuamLwunss sar_anb 0siisg.

(i) Qs grglyean, wrpblémssd o sluapmps sar_ad Csiss).

(i) Qg allgmaser bowaTsms a3l7555].

Cule QerdaUuLL sppseld g | aenau &l)‘]qursmgj/mm ?

[A]l (i) wbLEwW. [B] (iii) wLl(@Ww.

[C] (i) womw (i) wLED. [D] (i) wpmbd (i)  wLELWD.

99. Which battle is considered as a decisive one that dealt a severe
blow to the Marathas and the Mughal empire and thereby paved

way for the rise of the British power in India ?

[A] Second battle of Panipat
[B] Third battle of Panipat

[C] Third Anglo-Maratha War

[D] Third Carnatic War
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100.

LITLRUTsEREEL somujseéed Wlal Quflu  Csrdellow Gsr@ss
pédlusgan anipsgd, @Qbslurelld YuACau Iyra  stgram e
agssgoner Guny ag ?

[A]l  @rewrimbd ureflul Gurfy
[B] @apmd ureflul Guny
[C]  @arpmd g mElGaw - wyrligwl Gur

[D] @pammd sFpTLsL Guny

(i) One of the earliest initiatives to impart modern education
among Indians was taken up by the Christian Missionaries.

(if) The Christian Missionaries provided opportunities to the
underprivileged and the marginalized sections to acquire
education. These sections were denied learning opportunities
in the traditional education system.

Which of the above statement/s is/are true ?

[A] (i) only. [B] (ii) only.

[C] Both (i) and (ii). [D] None of the above.

(i) @bslu wésala Cu pelaré sdallowsd sHms s CoHsmaeriLLL
Qsr_és sra pupdsalQaran &flegea sowlLTLLE Gésamme
YatarPssuuLLFTELD.

(i) glflevser swwl LFLLs Gdsa Hus5L0 w&&EHEELW, aflafliby
Bleoa wés@sgh soall upasnaTar amiismer apEEer.
guifley wéaEnEE LIY &MHs sdall Yapuled soall sHUFHETE
2 flenwaer YSSLILLLBHSS.
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Cuba QsréaliulL spgsaleo sflurag/ma ag/amea ?

[A]l (i) wbLEW. [B] (i) wLEuwW.
[C] (i) whmbd (i) sl [D]  Cupser aeeusloame.

101. Who was the founder of the "Madras Native Association”, which
was one of the first attempts to organize and vent grievances

against the British ?

[A] Gajula Lakshminarasu

[B] Singaravelu
[C] T.M. Nair

[D] Potti Sriramulu

QY EEICOUTEEHES aZlns bEsmar @HESIMaTSS, SEEMF GMPSMar
a@sgeriuspe CuplsrarariniL wss pupdsele geprar Qe amandser
FRISLD' aab gemwlifleear e mansalueai wry ?

[A]  sgrar alsbpra

[B] drismCeaugq

[C] w.erbpmuf

[D] Qurly WBrmwpa

57 of 120



102. G.Subramaniam was one of the first leaders to use newspapers
to spread the nationalist message across a larger audience.
Which was the English newspaper founded by him ?

[A] The Mail
[B] The Indian Express
[C] The Hindu

[D] The Madras Courier

Coéluangs Qsuiglaaer aflfligulL unfaeawreaisellaGu upiyamy elashE
waapsdled  Osuglssraamert LWALESSIL  s@earTsd  ZlaPHS]
glaidlpoailud gyary. e plgaiule deuglssrer ag?

[A] &) Quufled
[B] &) @bslwer ardavLilyad

[C] gl @by
[D] &) Quiprad sflwy

103. “"The Pacific Coast Hindustan Association” was popularly called

as “"Ghadar Party”. “"Ghadar” is a Urdu word which means :

[A] Freedom

[B] Rebellion
[C] Devotion

[D] Victory
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'LONs NyCss @hgavsrar Qemwliy ' &5 &4 el LFQIQTE ePEELILILLS).
'sgi aad e mgE Qsndellar Qunger :

[A]  allfseaa
[B] &larfaé
[C] u&g)
[D]  Qeupm

104. "“The time has come when the badge of honour makes our shame

glaring in their incongruous context of humiliation.”

Who said this while renouncing his knighthood immediately after

the Jallianwalla Bagh massacre ?

[A] Saifuddin Kitchlew

[B] Rabindranath Tagore
[C] Mohammed Igbal

[D] Surendranath Bannerjee

'nfluremss Gopanar Gpa Bloajd Caumaufled Jyeuwrasslear faanors @is
wifpeu ulLb Hapdpg’

Paary afluGsr® grefluer aromuré ufOsrae FLbSeL6 Fag Irsl U LEmS
2L aqursd FnHseu wry ?

[A]  esydar &llse)

[B] @reisglympnd snaniy
[C] @aws Qsure
[D]  &CpBalypng unanied)
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105. Which of the following statement/s is/are true about
Subhas Chandra Bose ?

(i) He was the president of the Congress.

(ii) He resigned from the post of president of the Congress
as he was isolated within the Congress.

(iii) He founded the “Forward Bloc” to function independent
of the Congress.

[A] (i) only. [B] (i) and (iii) only.
[C] (i) and (ii) only. [D] (ii) and (iii) only.

Spsenayd sppsefled sured spZly Gumenen upflu  Ffluner
app/sd ag | doa ?

() Seaf smsglyed sLfuflar saaprs QmBST.

(i)  smuglred s flulld FaflbULESSILLLETSD e Fag Seeeu]
usallufleflmpg afleglami.

(i) sridlyad s Au\mHs salsss Qswaun QurGL Lrfai@
erns' ereyid s Aewws Qgrridlarmy.

[A] (i) wL(wb. [B] (i) wpmd (iii) wlELw.

[C] (i) wpyd (i) wLEWD. [D] (i) whmd (i) wLE.
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106.

Assertion (A): Karikala Cholan was distinguished as “Ponnikku Karai
Kanda Bhoopathi”

Reason (R): The stone construction named Kallanai, a masterpiece in
Water Management fitted with water canals was
constructed by Karikalan.

(A) [A]is true, but [R] is false.
(B) Both [A] & [R] are true; and [R] is the correct explanation of [A].

(C) (A) and (R) are true.
(D) [A]is false, but [R] is true.

apg (A : ‘Qurarallsgs sap sarl yusl’ aar sflsred Gempar ApliNésiu@alpnar.
smpemd  (R): faoyp QpIUL@SED amnisstasamd @oemdsiulL  soFDHS

sHsL(Lraronglu sooamear sflaroamd sLLOULLg).

(A) (A) &Ml gyamad (R) saum
(B) (A) wppd (R) @raw@w &fl.  Coawd (R) aaug (A) aflhgs sflunar

afleTéaLon@EL.
(C) (A) wpmd (R) @rawpld Heum.
(D) (A) saupy yemad (R) &,

107. What is the second line of the verse from Purananooru that begins as

follows?

“Yadhum Oore Yavarum Kelir”

(The world is my Country, all countrymen my kindred)

(A) “Theethum Nandrum Pirar Thara varaa”
(Boon or Bane does not come from others)

(B) “Undi Koduthor Uyir Koduthore!”
(One who feeds gives Life)

(C) “Unbadhu Naazhi, Uduppana Irande”
(For eating a measure, for dressing just two)

(D) “Thuippom enine thappuna palave”.

(If savored alone, much is lost)

61 of 120



“wrgih eaCy wraimn Gaaflt” - ey QsrLEED ypprandpiur e @remLreug
g erg?

(A) S5 pargd Npigr ey
(B) 2aiy Qar@sCsmm 2wl Qan@sCsnCn
(C) 2aiug pryfl e Gliuer GramGL

(D) guiGumbd eeaflGar sliyer LoGa

108. The message related in the Purananooru verse

“Yaanai pukka pulam pola,
Thanum unnaan,; ulagamum kedume....”
(As the elephant destroys the field, so does the King’s taxes does not benefit

himself and destroys the world).

1) Tax abolition.
2) Reduction of Tax.
3) Regulating Tax Collection Methodology

4) Tax Evasion.

(A) 1 only.
(B) 2 and 3 only.
(C) 1 and 2 only.
(D) 3 only.

“wrener L4ds Lo Gure

STQLd o aiamner; 2sWh AsAOGL” - T LPETAIHNL UTLES 2 amiégb &mss)
1) aflenw guflgge

2) aflg@enpLiyy

3) afl agdlégn Yanaw uEEURSS5®

4) aufl guiiy
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(A) 1 LLEW
(B) 2 whmd 3 wLH
(C) 1 wombd 2 WL
(D) 3 wLpw

109. Which is the Grammatical literature pioneered by “Tholkappiyam” ?

(A) Thirukkural
(B) Moodhurai
(C) Nannool

(D) Neethi Venbaa

QsrasriNuggler afipars alatgn Qosser o ag ?
(R) 8lma@per

(B) @pgieny

(C) merene

(D) 18 Qe

110. Match correctly the excavated things with their corresponding
excavation sites.

(i) Golden foils 1. Thirukkampuliyur

(i) “Rouletted” potteries made in Rome 2. Aadhichanallur

(iii) Sun & Natural Objects

3. Vadamangal

(iv) Fort wall (Compound Wall) that is - 4. Uraiyur
3000 years old

(i) (ii) (iii) (iv)
2

(A) 3 4 1

(B) 2 4 1 3
(C) 4 2 1 3
(D) 1 4 3 2
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80y Qsn@ésiiu@erer ser@LgLliysemer HFer eaia@EhLe ASTLILUERSSS

(i) SBSLILLLESE -1 glmasmdyafly
(i) Grmomyfufle QaliwiulL QretelLL

QLD LDGTLIMGHTL &6 - 2. g BlEsnagnT
(iii) @flwer wHYD Gupams o Heaurisa - 3 aLbES
(iv) 3000 gy airhlaer L wribg sHmsseT - 4. 2epw

(i) (ii) (iii) (iv)

(A) 3 4 1 2
(B) 2 4 1 3
(C) 4 2 1 3
(D) 1 4 3 2

111. The graffiti symbols of Keeladi are similar to which one of the
following civilizations ?

[A] Sumerian Civilization [B] Nile River Civilization

[D]Indus Valley Civilization [C] Yellow River Civilization

Speular Spasd | gifsd Naamnd aps prefssCsand @uyCHnéss sgwuama ?
[A] &Cwflu prafsw [B] anpad B3] Brafaid

[C1ABg swlleuefl prafsw [D] weEhser 53] Braflsw

112. The carbon samples collected by the Department of Archaeology,
Government of Tamil Nadu from the excavations of Keeladi after
having been analyzed indicate that all the six samples fall between:

(A) 2" century BCE and 2" century CE
(B) 6™ century BCE and 3™ century BCE
(C) 4™ century BCE and 6™ century CE
(D) 3™ century BCE and 5" century CE
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Sy gspaniallar Curg sUlpErH Srdlar Asradalusd gapured CesfldsiulL
sflo  wrelflsar, uELuUMle Qeuwiulrgled Japfla sreb  agCear
Sfluliupalng

(A) &l @remLmd grhpraw® wse &l.Ul QrewLmd Fropren® cueny.

(B) &y gyomd Hroptar®) ws® &4 apemmd Fropre( ey,

(C) &l praramd Froptar® ws® &1 Qyomd Froprear@ ey,

(D) &Ly aperprd Eroprer® oo &l.U pHsMd ETHoTaTh cueny.

113. (i) Dharma, Atharma, Kaama and Moksha are the four fold
classification of Indian Philosophy.

(ii) Tholkappiyam and Sangam literature speak only the first three.

Which of the above statement/s is / are correct ?

(A) (i) only

(B) (ii) only.

(C) (i) and (ii).

(D) None of the above.

(i) i, Sysiwwd, smow, CLI D eam Hrag aums LTGUILOL Qb3S 555 ka6
eyludlp&eper.
(i) Qgrédsridlun wpyb shs Qosdlumsd W e apern amssamer WLLEGW

eyludlp&eper.

Guopsreyd spmsafled &rﬂu.lrrargj/mm agl / aeel?
(A) (i) bLEW

(B) (i) wL @b

(C) (i) wHmwb (ii)

(D) CupsaiL b IHaw.
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114, M..ririrrr are the

eyes of all human beings”

In the above Thirukkural, which one of the below are identified by Thiruvalluvar as
the eyes of all human beings :

(A) Virtue and wealth
(B) Impartiality and self control
(C) Wealth and love

(D) Numbers and letters

! e UNelafpirid

sarQamaiy any wuise

Guoparamd Fmsenelle ame GrameaL g HaedrEhe] saTsEhéE @UUTES &n&pn?
(A) Sind GummEsLd

(B) 5(l6y Blanaenwuld SjL&&PanL MDD

(C) QurmEnd Qe

(D) eramrgmd &r(PSFILd

115. “Dare to do a thing........ccvvmverienanns

As per the above Thirukkural, how should we enter an action?

(A) After accumulating enormous wealth
(B) After charity

(C) After a mature thought

(D) At an appropriate time
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.................... gl smwd genllhser
.................... aau Zlpse

aaany @n swudld FOUL Cauar( aar glmadepeal Copsaglu @nefla
Siloipsgislpni?

(A) Blepwls Qurger Cegs Uing

(B) snamd Gl LNp@

(C) pepraé A5glos SispEL Lpe

(D) 585 srabHH

116. “Speak out your speech, when once 'tis past dispute
That none can utter speech that shall your speech refute.”

What does Thiruvalluvar mean by “that shall your speech” ?

(A) A synonym of the word used by you.
(B) A substitute word.
(C) A translated word for the word used by you.

(D) That word of yours which cannot be won by others.
“Qeragus Qeraaal NNCsmibsrd gy&tsrdame
Qaucges@emed Qeirentn flba"
- “QFQsrdma " aar FlHeadTgral 2@mliLg damg ?
(A) prsd uwau@szlw Qurmelle Caulprm Game.
(B) Qamagisg wrprs CamQsna.

(C) Bhser LwaLpFslu Qerdqde Capneongls Qend.

(D) ppeulsemmed Qeude Pywurs e BsEHmLW Qana.
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117. e if they fail to control it, their words will lose weight
and sorrow and grief will overwhelm them”.

In the above Thirukkural, Thiruvalluvar emphasizes the importance to control
one’s tongue. According to him, this is applicable to :

(A) The wealthy

(B) The Poor

(C) The Good human beings
(D) Everyone

GI&N&& STeUT&&me)
Gamamiuir QerdalpseL LLE'

Copsaflu glméeafled gmaerener prassdms Lngl spalprr - @UUeTy daHEEL
Qurmpgd ?

(A) Qunmer eamLL®HEE
(B) Qunmer SnConmée
(C) paGarmseg

(D) Symana([éELh

118. “"Incomings may be scant; but yet, no failure there,

If in expenditure you rightly learn to spare”.

What do you infer from the above ?
(A) Work hard to increase your income.

(B) Though income is limited, one can live without any misery, if
the outflow is carefully managed.

(C) Completely restrict the outflow regardless of your income.

(D) Increase both the income and the outflow.
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“gpan paraflly. sruflays Gaigdeney
Cunar psané semL"”

-Guparayd Gpafle Qmba el Syfleug wng?

(A)

(B)
glaruwsleng] aurp g,
(C)

(D)

119. Match the following:

1) O - o0 =

all the rest is nothing but trash to him”

(i)  “When trouble comes..................

(iii) “like the stork or crane with folded
WINES.teieeiurieeeinieeeessnrnsseasreeeennnns ¢
(i) (i) (i)
(A) a b C
(B) b C a
(Q) C a b
(D) C b a

Spsanaruapepl QuUImSSS :

areal QumsEusHGS shaors 2mpss Ceuamfid.

Qeaemais saerors Cooramean Oslsrd earey @oparamgw ddalss

are) assamsusrilg Qsaallar Qumsssms WEambLrss sLELULGSSS.
arey, deney @raraLyb Iglsflsgs Ganaar Coueam@L.

(@) Need to encounter with
cheerful face

(b) Knowing the fittest time

(c) Learning

QanwasCan@ aglttanerer Couemmig.L
SjauFlwid

sflunen hsTiILD SYflbs
Qewadu@ga

saall sHHed
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(i) (i) (i)

(A) a b C
(B) b C a
(C) C a b
(D) C b a
120. "TO USE .iiiciiicrmicrmicrmsesmssssanssanssnnssnnss is to

make choice of unripe fruits to ripe fruits”.

In the above Thirukkural, according to Thiruvalluvar, which one, when
spoken is equivalent to choosing unripe to ripe fruits ?

(A) Truth instead of falsity.

(B) Rebirth instead of the current birth.

(C) Bitter words instead of sweet words.

(D) Talking about arrogance instead of humility.

Fa.)6)

safl\mlius smisaip sHo
@égpala smademar, 'Tmss apag salllpsen Curg sraus safushe
QUUTEL earglpmi ?

(A) earapuiBés0 QUi Sna.

(B) @uaw @més Ly UHHlé spe.

(C) Qalluama @més Qaramss sne.

(D) SLésWLMLEGL Lglons JyLsslaenw updll Cuseug).
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121. (i) “What is called Truth of True word.........c.............. "
(ii) “External cleanliness can be had by use of ............ "

Considering both the above Thirukkurals together, which one of the
following would be the most important outcome?

(A) Falsehood
(B) Truthfulness
(C) External cleanliness

(D) Blameless good

() 'QUIIELYD QT LLES oo
(i) YDBSTIEL FIT@DY DEFETUIGD

Qaiallyan) @nersmeny @BCer vagled Qaramrp) SpssaiL ahs aflmaey 18GEHS
WéEusFa 2aasnad &mgalT ?

(A)  Qurdenw

(B) aumienw

(C)  uppgnlienw

(D) yardihs maranio

122. Which one of the following is not the attribute of Thirukkural ?

(A) Secular nature
(B) Compassion
(C) Inclusive thinking

(D) Naming some Kings and praising their individual valour.

Naramaaapned slnsgpafld Qaoors Juey ag?

(A) wyéaniLierenio

(B) @résw

(C) Syardamaybd 2.derLsalu figmen

(D) flo wvaraisalar Quuismers EPULQagL, yaisala safliul
alrdasl LenanDmieig|Ld.
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123. During the Sangam age, "“Hero Stones” were erected to
commemorate the honourable death of Heroes. In order to protect
which one of the following, these heroes gave up their lives while

fighting enemies ?

(A) Horses
(B) Clothes & Jewels
(C) Cattle

(D) Weapons

sus srasgla aapmpl uamsaflLblpiy stéew wwupddled FOULE eult P55

airtaEné@ “HHEHS"” FLLILLLer ?

(A) @gleyaa
(B) QoL yurawmise
(C) srapeLsar

(D) Quysrsa

124. “All men that live are one in circumstances of birth;

According to the above Thirukkural, differences among the
individuals in a society are due to:

(i)  Quality of their actions.
(i)  Amount of wealth possessed by their kith and kin.

(A) (i) only

(B) (ii) only

(C) Both (i) and (ii)
(D) None of the above
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Copsapflu  Smégpallar Ly @@ swsmwssled safl wallsisenssla Cuwrer
Cappeowsigs smemors QEUUS :

(i) SansepmLu dawdseilar gy

(i) Saiseller epallammsellLd @Héew Qsodadslar emey

(A) (i) LA

(B) (ii) L@

(C) (i) wpmud (ii)

(D) Cupsranid aamawd Ha.

125. What is the importance of Thirukkural as a secular literature?

(A) Being secular, its values are not just confined to any particular religion
and it is applicable to the entire humanity.

(B) Its focus on human welfare.

(C) Reading Thirukkural strengthened the secular vision of the founding
fathers of our nation.

(D) All the above.

w&smiupy Gosslub e amsuld slwsepaller widlusgeun wng?

(A) abs e® GUUULL s wIudlypsta @assluwrsan Godarg wbrayLL
WRmwEGD AurHHHD aflsgaL.

(B) wreyL poenar (perplmsgih aflsgeuL.

(C) S\mé@par ardliy BLg BILaL sLLOWLSS Smaaiseld LsE smmubp
sananenil auaflenwlILRSSwg).

(D) GupseiL gjenensgiL.
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126. Who formed the “"United Nationalist Party” ?

(A)
(B)
(®)
(D)

Poppili
Subbarayar
Natesan
M.C. Raja

“yoadLL Crearaflab sL8"mus Camppeallsseulr wir?
(A) Gurlife

(B) &Lupmwim

(C) mGLsenmi

(D) arwb.). grgm

127. The original name of Oomaithurai was :

(A)
(B)
(®)
(D)

Kumarasamy
Kattathurai
Meenatchi Sundaram

Vellaya Thevan

caewgeariler Qupduur eag ?

(A)
(B)
(C)
(D)

@Lnyemns)
sLL§gny
el &L

Qauetenarug Ggeuar
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128. Which place was closely associated with the “"Black Hole Tragedy”
of Madras ?

(A) Alipuram

(B) Mamallapuram
(C) Tiruppur

(D) Mallapuram

'Qeainar @BLLoDS gur BlapsHyLar Qsmiyeoy GLb ag?
(A) Siellymd

(B) wmweeyfL

(C) glpugh

(D) ey

129. The Palayakkarar system was originally practised in which of the

following kingdoms?

(A) Vijayanagar
(B) Bhamini
(C) Kakatiya
(D) Hoysala

urenarwésnyi (pep waar wsalled aamaLy gy Aiugiuld GrudufssiurLg?
(A) allgupsh

(B) umdlafl

(C) araglw

(D) Qapmuismer
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130. Which of the following journal was not founded by Thanthai Periyar ?

(A) Kudi Arasu
(B) Puratchi

(C) Viduthalai
(D) Swarajya

Spsangyd praflgpsale siemg Auilumpre gassiuLng prellsp ag ?
(A) @lurs

(B) yrLél

(C) ellpseama

(D) &swrrgwid

131. Who is known as the "Political Guru” of Kamaraj ?

(A) Gopalakrishna Gokhale
(B) Mahatma Gandhi

(C) Rajagopalachari

(D) Sathyamoorthy

snoprgfer “Qrflue Gn” aar HyPluliu@ueulr wri ?
(A) Garuraglmgar CanaCe

(B) wardLN SNHE)

(C) @mrgCaruranésnd]

0) ehgugpisg
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132. Which is the original name of Marai Malai Adigal ?

(A) Swami Dayananda
(B) Swami Vedhachalam
(C) Swami Paramananda
(D) None of the above.

wepwae Jesafler Jui@uwi eeer?
(A) sams) guranpgm
(B) &ams) Ceugnégald
(C) &amd) urbraHS

(D) Qaisafled eraumiledana.
133. Perarignar Anna chose Justice Party to work for :

(i) Casteless society
(i) Classless society
(iii) Casteless and Classless society

(iv) Class based society

(A) (i) only.
(B) (i) and (iv) only.
(C) (iii) only.
(D) (iv) only.

Curflgi yemremn $516 s flew ahsl umisanas Csis0s055M?

(i) englupy sWSTULD JyMs
(i) eafés CusLHY FWPSTLD JyMLES
(iii) erglupn, arés CusLHY WHTULD HMWLES

(iv) aféssms SjgliLamLwnss QanaiL PaMUD IHmnés
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(A) (i) bLRD.
(B) (i) wpmb (iv) wLELb.
(C) (i) L Q1.
(D) (iv) LA,

134. Vaikunda Swamigal as a symbol of protest :

(i) Urged his followers to wear a turban, a right which was permitted
only to upper castes in those days.

(i) Insisted on physical segregation in dining habits.

(iii) In his feeding centre called “Nizhal Tangal”, caste based
restrictions were broken down.

(iv) Stood for social segregation.

(A) (i) only

(B) (ii) only

(C) (i) and (iii) only
(D) (iv) only

aaugaiL saundlad agliiller e wnenons

(i) Sipss sressla ewr graluflamée LLECL yawslésiulynmhs efamburear
saalurms ailaums seamer Ulauppueaisamenyw ey eueflunss)arr.

(i) saflssaflurs earampgb LPsssms aallymssen.

i) 'Blped smRSR @y Jy@pssLLLL 2 aesmitsaa stdlus sLELUTGSE
2 L g0gHluliulLan.

(iv) spsmu figlurs saflawliufsgsme <y sfssn.
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(A)
(B)
(®)
(D)

(i) LW

(i) LL{W

(i) womwb (i) LD
(iv) LLEW

135. Which of the following were the policies and principles

Perarignar Anna ?

(i)
(ii)
(iii))

(A)
(B)
(9
(D)

Religion and Politics should not mix.
Privatising education and health sectors.
Public ownership of transport systems in Tamil Nadu.

(i) only.

(ii) and (iii) only.
(iii) only.

(i) and (iii) only.

Spsai_amaseled Cupflgr Jaramallar Qandians whgb Camur@aer aeame?

(i) swwuyd Hrdugb eatorh Qamn s0&66 &Lng).

(i) seall wHMID s&ETFTTSHMDEMer Sl LWILTEESSE.

(i) sBIPET e CUTEGAUTSSS SMPaL STSMLEMLWLNESSW.

(A) (i) LLEID.
(B) (ii) wpmb (iii) LLAL.
(C) (i) WL Q1.
(D) (i) wpmd (iii) LLELD.
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136. The weekly journal “"Oru Paisa Tamilan ” was run by :

(A) V.O0.Chidambaranar
(B) Thanthai Periyar

(C) Ayothi Thasa Pandithar
(D) Bharathiyar

“@m eust sulpar” aaud oy @selp FLSZIWeulr wir?
(A) . 2. flgburermi

(B) speng Quilwnri

(C) SCwrsslgne Liagsi

(D) umggluni

137. Which of the following is / are not the work/s of Perarignar Anna ?

(i) Velaikkari.

(i) Neethi Devan Mayakkam.
(iii) Kannan Paattu.

(iv) Kudumba Vilakku.

(A) (i) only.
(B) (ii) only.
(C) (i) and (ii) only.
(D) (iii) and (iv) only.

8 apaamapper aaa Curflgh Sjamearmallar LaLlLs6 Jjda?

(i) Cauemassf (i) B3 Caeuen LWL
(iii) Semremranm LTL(H) (iv) @Owu allaée
(A) (i) LLED.

(B) (ii) wbLRD.

(C) (i) whmb (i) LLEL.
(D) (i) wpgd  (iv) LLELD.
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138. What are the similarities between Thanthai Periyar and Socrates ?

(i) Asking and answering questions to stimulate critical thinking.
(ii) Purpose of dialogues is to expose underlying assumptions.
(iii) Accepted hero worship.

(iv) Accepted that solutions to problems cannot be identified by

discussions.

(A) (i) and (ii) only.
(B) (iii) and (iv) only.
(C) (i) and (iv) only.
(D) (ii) and (iii) only.

Quiflurt, srérleed alu @maumsed Qo Guurar ghpms6T wWramau?
(i) Caaaflaar CaL( el sramuglar arflars allwisar fglulorar &ismanaws
&1 Guirlg. GUTTTT &3 6T
(i) sebgearur_dlea Corésn yawramtsala el gL smasmen Couefls0smeamieg).
(iii) prws euflurieL gomssanarLniser.
(iv) eflargliuglar amflersl rsflamamsmsgs Sia) srem (ywng aaLms FomE

Q& TeRrLT &6l

(A) (i) wHmb (i) wLLELWD.

(B) (iii) wpmd (iv) wLEL.
(C) (i) whpmbd (iv) L.
(D) (ii) womb (iii) wLEW.
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139. Ayothithasa Pandithar:

()

(i)
(iii)
(iv)

(A)
(B)
(C)
(D)

Campaigned for social justice
Considered education as an important tool for empowerment.
Started a weekly journal called ‘Kudiyarasu’.

Was an ardent follower of Hindu Dharma

(i) only.

(i) and (iv) only

(i) and (ii) only

(i), (ii) and (iii) only

6urgg) sns LegBi :

(A)
(B)
(®)
(D)

(i) &ws Baléanal Gurymg.am

(i) saallow gyFamrdmsl Aupasnanar Wéalws smallunss smglanm.
(iii) “@wrs ” aab oy @smp Y mbLSzn.

(iv) @b stwsmss Sallywrsls daupmue.

(i) WL

(i) wpmwb (iv)  WLLED

(i) womw (i) L (L

(i), (ii) wpyd (iii) wLED

140. Which is the best example of rationalist thinking ?

A person suffering from Jaundice has yellow coloured eyes:

(A)

(B)
(C)
(D)

Therefore, any food item that is yellow in colour should not be
consumed.

Wearing yellow colour dress aggravates the effects of jaundice.
Jaundice can be reduced by adorning yellow coloured flowers.

Jaundice is a disease which can only be treated by identifying the
cause. It has no relevance to the colour of the food consumed,
colour of the dress and flower one adorns.
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u@sslaE fsmasgs sflurer ahsgssn @ ag ?
QREUT EE6 SToTEWND UTHIESILLE LE S B1Néeeims@nLae 2 drerm.
(A) Sjaui wEhsd FInssled 2drer apg amaaid 2L Ganarers aLng).
(B) St wgsar Blp ypoLomw yeflag wesar snoron Comuflar aflugmss gnam@L.
(C) weEhed Blpl Yasamad GHaug wEhsd smorae Crrlla saramwmwus @mpsdEL.
(D) wehsar sroreae aaLg Crmisster smandmss sarLflhsnd wLHGLW
Gamoréss s @ Coml. 2arallar plpw, eoLwlar Ko, GO Yésaflar
Bln g &lwapplpen @sCrnisen absalss Ggrijdldme.

141. A person with self respect will have the following attributes:

(i) Will be a good team leader empathizing with other team members.

(ii) Will be prone to finding fault with others rather than looking into one’s
own problems.

(iii) Will believe in the inevitability of social hierarchy.

(iv) Will condone others’ mistakes and give an opportunity to learn.

Which of the above are true?
(A) (i) and (iv) only.
(B) (i) and (ii) only.
(C) (ii) and (iii) only.
(D) (i), (ii) and (iii) only.

sunflurens eew waflsr SpssaiL Lamsmen QL HLILTT.

(i) eweala wpp eplifeaiselear oeamtesmar HPlhgy OQsuoupn s
GWssmaearts @mUun.

(i) sa@eoLw sansmas GYés Y rmunod wipaiseded saunsmad sraugld
S Teutd Gl menria (HLILITT

(i) #Qsmul ugFlaased sallTés QuUangme aar HLOYUMITS @®MULTT.

(iv) wpparsellar sapsamar weralldg, Jarsdr Japdled @QEbs LML

spm&Qanaer euflaugLunt.
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Cupsei_eupper eflurereneas erenau ?

(A) (i) L (iv) LLED.

(B) (i) whmb (ii) wLELWD.

(C) (ii) womb (iii) wLEW.
(D) (i), (i) wpmd (iii) LLED.

142. Which are the characteristics of a person with self respect ?

(i) Such a person will be with positive self esteem and will facilitate
meaningful social existence.

(ii) Such a person will promote free expression of creative ideas.

(iii) Such a person will treat others with dignity.

(iv) Such a person will have a superior feeling about oneself.

(A) (i) only
(B) (i) and (ii) only
(C) (iv) only

(D) (i), (ii) and (iii) only

suofluregwyder weflgfler LT s wreaea ?

(i) SHsmaw pur Comvenpurer servgllienu QupmaereurTEad, JTésWeTer &aps
ampallanar 2. Haurd@Larraed @@L,

(i) opsmew  pur  uerlumpped  WEs  fisoasmears  geLullen
Qauelliu@Psgauens ead@allliueyns @muun.

(iii) SHsMaW HUT wHPaTSmer samanflUSFLar BLSFLeTTS QEHULUNT.

(iv) gssmaw  BUT LPpaTsmer aflL e cwWihsQT 66 eTaTaTSMSS

Q& memrig. (FLILITT.
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(A) (i) LR

(B) (i) whmub (ii) LW

(C) (iv) LLED

(D) (i), (ii) whmu (i) LLED

143. Why did Thanthai Periyar write in “"Kudiyarasu” that “"Government and
National consciousness should exist only for the purpose of making the

people live with self respect” ?

(i) He felt that Government or nationalism is not merely to satisfy their
mean needs of food and clothes only.
(i) One’s self respect never robs away others’ self respect.

(iii) He felt that if true sense of self respect is inculcated in people, then
they will certainly create faultless politics and peaceful nation.

(A) (i) only

(B) (i) and (ii) only
(C) (i) and (iii) only
(D) All the above.

“gremiapn  Csflu oamied wasemer suwflutensburh earps GslemzsG
Cpraswras Qsramgmés Caer@n” aar shens Guflumt “@uurs” @sfled ear
aglenm 2

(i) Sremsd yoag Cadlub aaug wésEhssTan eamey, 2L GCure srgmyems
Comasamar  ZmUslupsseushsmrs wLECL  ydo  aaums  Ijeul
2 G &) BHS.

(i) @mameLw sunflurmsg wipamwaLw suwfluragamul ufliugrs @masng).

(i) swoflurensy SysaeoLw cearawural Gurnelld wésal b oemidsiuLlLTe
Satsdt  @eopsdr  gguoiy  Jrflumayb,  yowglurer  BTLeLWLL
2 (HUNG@GeUTTaaT eram 2. amiha)HHS.
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(A) (i) wLED.

(B) (i) whmbd (i) wLEL.
(C) (i) wpmw (i) LLEL.
(D) GuGe oémer gjamenggL.

144. In the Sangam age, Kotravai was worshipped as a Goddess by those
who inhabited:

(A) Mountain region
(B) Forest land

(C) Crop land

(D) Dry land

FLE sTos3le Garppea g Qsuadglamar aflu G amnpbs Flouuriy :

(A)  eflgd
(B) poame
(C) wmsW
(D) ureve

145. Why is Thirukkural relevant even today ?
(i) Because, the basic Human nature has not changed much.

(ii) Because, Thirukkural does not focus on specific issues but speaks
about the general ideas related to Human existence.

(iii) Because, Thiruvalluvar had anticipated the changing needs of
modern society.

(A) (i) only.
(B) (ii) and (iii) only.
(C) (iii) only.

(D) (i) and (ii) only.
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Bmé@ner asamed Q5ss sTRssLLSSINED CunmssLns 2 derg?

(i) gQarafled, SyyiueL vafls uay Qumweralled wrHPD oL walldama.

(i) gQaraflae, slma@ner UL faapmled LLECH saand Cegssmoe,
weflgrsellar @muy upflwu Qurgeurer smsgsmens GHlsgL Cuaslng).

(iii) gQanafled, FlHeouanepeuy palew swsmusglen wIHlamDd Comausaman (paidLig.Cw

W858 BHS.
(A) (i) bLEwW
(B) (i) whmd (iii) wLELW
(C) (i) LLED

(D) (i) womd (i) LLED

146. The flagship scheme that lends special character to the Tamil Nadu
model of development is :

(A) Mid-day Meal scheme.
(B) Special Economic Zones.

(C) Information Technology Parks.
(D) Industrial Estate.

sUlpET e aemmEdll uresullar HAplys @emmbssms Qaefliu@sgyn Eflw
glLLwrs gfluiu@ag :

(A) w3lu 2ameyd SILLLD.

(B) #plyd Quretmsny WwewL b S,
(C) ssad Ogmfloplul Yrsmsser.
(D) Qsmglp CulenLae.
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147. Which of the following is / are true with reference to
Dr. Muthulakshmi (Reddy) Memorial Inter-Caste Marriage
Assistance Scheme:

(i) There is no income ceiling and minimum educational qualification
stipulated.

(iil) Either of the spouse should belong to the Scheduled Caste or
Scheduled Tribe communities.

(iii) Either of the spouse should belong to the Forward or other
Community and the other spouse should belong to the Backward
Classes / Most Backward Classes.

[A] (i) only.
[B] (ii) only.
[C] (i), (ii) and (iii)

[D] None of the above.

omagalr psgolasl @rly) paae ors) LyUUs slHoear EoLLS & Hwamd)
B8] e gafls gL Qgrijurer Naamn sapnsele sflurag o / ama ?

(i) GeonHsULE auporer aupbGur, GapbsULs saalld 5@5CwLr deaLwrg.

(i) suglufled el ulgwed aglllayraCar yoag UL gL
uprgyLamraCar @msss CaamrLd.

(iii)suglufled eme wHuLL Jydwg Q57 agullamraeyw, wHCprwmeu
NpuGssiue / dsaw NpupssiuL agllamsan @rsse Caa@ib.

(A) (i) wLELD.
(B) (ii) wL L.
(C) (i), (ii), (i) gy sluama.

(D) Gupsar_aupmer areneulsloane.
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148. The importance of social harmony in economic development can be
understood by which of the following characteristics ?

(i)

(i)

(iii)

(iv)

Social harmony also means peaceful co-existence of various groups
in a society which are otherwise divided by various identities.

Peaceful co-existence of various communities means that the
government can focus on initiatives related to economic development
and the expenditure towards Law and Order management gets
reduced to that extent.

Social harmony also ensures a peaceful investment atmosphere
wherein investors remain confident of their returns.

Social harmony increases economic disparities.

A) (i) only.

B) (i) and (ii) only.
C) (i), (i) and (iii)

D) (i) and (iv) only.

Qurmerrgny aeridlulled sys podlarsssglar paslusgausms Naaumnd abs
uedryserned Lflsg Qameiar @pigyH?

(i)

(ii)

(iii)

saps Badllawssd eang uaGampy yoLwramsared LNABgElLéEn @
spss8len LaGan Gssailar Hamwglurer &6 anpey aaLmsyd GHlEEL0.
uaGeaiy sgpsrseallar yamvglurer ssampe aaug HyrE  Qunmangmy
aerfeflssmar paQarpuyselle saad CQsgss Pyaumss GHsEn. B3
b5 Jeallhe sLLL QUEE pliarssslnsta Osaeaamsmas Gmnss
ggaunglpg.

WeSLLrergser  sREs  WPSALHCaHY @@l  ElaLsEL  eald
poLdmamu  aPRED @O obIluTa WSSLHF GUDloamu  F1ps
poslarésn 2 ngl Qsiglng.

(iv) ss podlarssd Qurmernsnyé swllaamweaw HglaMsslng).

[A] (i) wLEW [B] (i) wpmid (i) wLEL

[C] (i), (ii) wpmd (iii) wL@w [D] (i) wpyw (iv) wLED
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149. Match the following :

i Block chain backbone 1. Online services

ii. TNeGA 2. Remote sensing Technology
iii. E-sevai 3. Nambikkai Inaiyam

iv. TN-GIS 4. State Nodal Agency

Choose the correct option from the codes given below:

i i iii iv
(A) 1 4 2 3
(B) 4 3 1 2
(C) 3 4 1 2
(D) 3 4 2 1
Qurmszs
(i) demré Qswier CusCumen 1) @eemueufld Caenauser
(i) TNeGA 2) Osrene 2.amfays QgmglemL
(iii) @-Caeneu 3) pulléams Geamud
(iv) TN-GIS 4) wIPle @mEmariy (s

spsraruamauldpig eflurer allamLamwug CarbEsHEsewb

i i ii iv
(A) 1 4 2 3
(B) 4 3 1 2
(C) 3 4 1 2
(D) 3 4 2 1
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150. Which is the objective of Arasu e-sevai centres ?

(A) Providing unified access to e-services of different government
departments on a common platform across the State.

(B) Providing overall guidance to e-governance projects at district
level.

(C) Providing on-line examination services.

(D) Providing residential data for Tamil Nadu.
Irs Qeeamu auflé Cemar (@-Coamal) pHaursaller Conéaw ag) ?

(A) wrpleb Eagb usCan Hras gopsdlda Qmaru afls Cemasamanyd
eOESslmarsg @@ Ourgdsassld JymEn amsile aprEse.

(B) wrailL Seraflamar Wlar S Ermas HLLEGEREES el sTLH5.

(C) Qaarweafls Coreysensarar GCeamaulamar aulpRES.

(D) sUlpBTLharer GuullBLLS STe|smar QIDEGS6.

151. Who took major efforts in the emergence of labour organizations in
Madras Presidency ?

(A) M. Thirumalachariar

(B) A. Singaravelar

(C) Thanthai Periyar

(D) Maraimalai Adigal
Qscrenan wraewsgla Gzmlonai yewlilsmer e Hansghd upfsalsd s
wédlw urstpflwey wry ?

(A) . Smwergemflun

(B) ¢. flusryCeuei

(C) speng Quiflumy

(D) wepweme Ijig&6r
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152. The philosophy of Social Justice is largely rooted in :

(A) Natural Justice.

(B) Moral Justice.

(C) Distributive Justice.
(D) Legal Justice.

sps P31 ssga dumwaalld Camardlulmiug :

(A)  Qupams pgluflé.
(B) o & palufle.
(C) umSLE palufle.
(D) &L e pglufle.

153. Match the following :

Social Reform Movements

a) Theosophical Society

b) Self-Respect Movement

c) Widow Re-marriage Movement

d) Justice Movement

a b C
(A) 1 3 4
(B) 3 4 2
(C) 3 4 1
(D) 4 3 2

Spssar_apeapll QUImSSS :

sps EN3\m55 Qussmise
a) 8lGwreurslad smawD

b) swuwflures Qusswd
c) allsaa wywear Gussd

d) 8 Qussw

NP DNOQ

W

4.
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Reformers
Veerasalingam Pantulu
C. Natesanar, T.M. Nair,

Thyagarayar.
Madam Blavatsky

Thanthai Periyar.

LEEE AT
alGraaflman Lpbgie)
£l BCLaany, ly.eTid. HIW, FlwraFmuf

LemmaurLeba ybenwowni

gheng GQuiflwiy



a b C d
(A) 1 3 4 2
(B) 3 4 2 1
(© 3 4 1 2
(D) 4 3 2 1

154. The plight of the villagers and the sufferings they endure while
trying to resolve their problem of water scarcity is depicted in the

Tamil movie :

(A) Mahanathi (B) Neerpparavai

(C) Thanneer Thanneer (D) Eeram
glpro wéser srselar samantyl LppréGapulamd gy UrFoasenss Sie
srem (YuCurg egliaama@rn gurtamer GeuefliLpsgd sUlHs slaruuLw :
(A) wspgl (B) Biiupma;
(C) sanafi semra (D) Fpd

155. (i) In India, Socio-economic inequalities are well entrenched.

(ii) A law for fair distribution will automatically ensure just distribution
of resources.

(iii) Governments will have to ensure a level playing field in order to
establish justice.

Which of the above statements is / are true with regard to
distribution of resources.

A] (i) only
B] (ii) only
C] (i) and (iii) only
D] (ii) and (iii) only
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(i) @isluralled swpsl Qurmermsty gHns srpeyser He@ GCeugnaimwarerar.
(i) plunuwrer aamsuled aamsmerys USITHS6és umatalwd s LEG6
QupdlamCatu Cungiorarg. HEs LRGN Ijelaemtsd & Iyeralle
uglpseflésliLpeaems emsl s,
(i) Bglawu oL JoaanmsEhd &b amily aprsiLpaums rs 28
Qaww Geuamr(Lb.
aeriismery LETEsefling Qsriiurer CupsaiL smpgsee sfluramea ag [ ama ?
A] (i) LL AL
B] (ii) L@
C] (i) wpmd (iii) wLEWD
D] (ii) wpmb (iii) wL G

156. Which of the following movement urged its members to give up

their caste surnames?

A] Pure Tamil movement
B] Self Respect movement
C] Quit India movement

D] Bakthi movement

Spserand abs Quasd yser epliflasmar sruaamg grglulear Quweny
srsa QUUBLE Qamands SmpsE apsssmss msalll aalynsslug?

Al safls sUlp Quaswd
B] swwflurang Quswd
C] QauarenemuGar QauaflGugy Quésid

D] uég) Quésib.
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157. The Protection of Women from Domestic Violence Act-2005

safeguards women from :

(A) Physical abuse. (B) Sexual abuse.

(C) Economic abuse. (D) All the above.

Quers@n&aglyrer GHLL aeryaps sHLLE sLLb 2005 abg aflgorer aerpapseflenmbal
QuetrsEhéE LTgSTIL PEESIng?

(A)  2L& fgluner auangpenp (B) umaflua fglwrer auarpanp

(€ Qurgerngmy fglunen auanpen (D) QB3 gparn euamswTen
auairpenn &l af) (5L

158. Match the Marriage Assistance Schemes of the Government of Tamil
Nadu with the respective names given to each scheme :

Scheme Name
a) Marriage Assistance for poor girls 1. Annai Terasa
b) Widow re-marriage assistance 2. Muthulakshmi Ammaiyar
) gI\;/Iizralrsriage assistance for orphan 3. Dharmambal Ammaiyar

Moovalur Ramamirtham

d) Inter-caste marriage assistance 4, A :
mmaiyar

a b (o d
(A) 4 3 1 2
(B) 2 1 3 4
(C) 1 2 4 3
(D) 3 4 2 1
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80y Qsnpasiiu@erer ulps gyrdler glmwen egally FLEsmar
Japdlpg GLLUuL@der QuuisGem® Qurmssaw :

glLLLD Quuwir

gl Quenser Zmwer 25alls
BILLLD

b)  allgenes wywerd FLLLb 2. (PSS Sjbendwnf

1. Sarenar Qgyam

o psrampl Quars@nsstar &mwe
2 gafl§ ILLL

3. SiombUmer Sybenwni

d  @rgl byuys smwar 2gally b 4. gaignt @rmomsligid

S|enwwmy
a b C d
(A) 4 3 1 2
(B) 2 1 3 4
(C) 1 2 4 3
(D) 3 4 2 1

159. The aim of the “"Cradle Baby Scheme” of the government of Tamil

Nadu is :

[A] To promote mother-feeding.
[B] To ensure delivery of babies at Hospitals.

[C] To provide immunization to infants.

[D] To eradicate female infanticide.
5U0lps gréler Qe GREMsS S L5386 Cprésw ;

[A] smilured el (ams casEallsse

[B] wLEsSawmasd GuimslicLn Blapams 2 nsglasiised
[C] ¢lassendanar CHMUSEOLY WepsmaT auPEIEGSHD
[D] Quair Hlas Caraasamer gflsseam
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160. Which one of the following is not the journal that carried on the
effective propaganda of self-respect ideals?
[A] Kudiarasu
[B] Revolt
[C] Swathesa Mithran
[D] Viduthalai

Spéargyd prCer@aefler swwflutenss smsgssemer fpliumer epulled uFier
Qeliung préer® argl ?

[A] Gl4Wra

[B] yrLé]

[C] &Cg&d)58 e

[D] aflhsema

161. (i) The concept of welfare state had its origin in Western Europe
after the second World War.
(i) The main idea of welfare state is that the government should not

play any vital role in human development.
Which of the above statements is / are true ?
[A] (i) only. [B] (ii) only.

[C] Both (i) and (ii). [D] None of the above.

(i) &G FR JI& T SHHFTESD QrewLmd ewsl Curmégl aarm Cuhe
oGrriuralled goULLFTELD.

(ii) wésa He Sréler paaramws fhgmen aeLg yremasd wafls aeiEdllled ahs e
WAl uBEl@meanyd YODE ST TaUSTELD.
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CopseiL smppselle sflurers g /aame ?

[A]

[C]

(i) LLEWD [B] (ii) LA

(i) HHILD (i) [D] Copsei_ egeajn Game

162. Assertion (A): In the contemporary society, some people are tempted

Reason

[A]
[B]

[C]
[D]

&)

towards “Hero worship”. This is not a healthy trend.

(R): Rapid Urbanization creates a sense of being rootless. This

inturn creates a longingness “to belong somewhere / to
somebody”. Therefore, some people are attracted towards
the Heroes. It induces a blind following and thereby
inhibits a critical thinking of one’s own socio-economic
problems.

(A) is true, (R) is false.

Both (A) and (R) are true and (R) is the correct explanation of

(A).

(A) is false, (R) is true.

Both (A) and (R) are true, but (R) is not the correct explanation of

(A).

(A):

Qarpu  spsrugsled Aot “prus  aflumier”  Cprés)
rissLLGE M. @5 @@ < Crrésluwnar CuTsE dw.

smamd  (R: 9pl0aus parowLIEssd Homse Haisda susag GCeursemen

Quigel g Guray @@ oearmellmar gouRsssing. Qs
@ssmsw puisellLD stEEd “gCsmd em QLimzGur
puapGur” smibglmés Caar(b e géssms FHUOSES 0.
aaGagrar,  @Qearser  yspEupn  wafllgtsemer  Cprda)
rissLL(Sapent. Qg HS BrusTEmer SaiaplydSemonsL
Neuppeens easgalliugemed, aisd SEsEHMLL  Fps,
Qurmerngmyl pssmearser @lss slpamie Uiewns &HgléeL
slpener aiguallpsss Gewigpg).
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(A)  (A) &l gy emmad (R) Haup

(Bl (A) wpmd (R) @remBd &), Coaud (R) aarug (A)-allhE
gflwuren afleréaLb.

[Cl (A) gaum yeme (R) &

D] (A) wigd (R) &f, gpamed (R) earug (A) -allpg sflurar
alleT& & WM.

163. Which of the following pair is correctly matched ?

Scheme Chief Minister
[A] Noon Meal Scheme i) J.Jayalalitha
[B] Cradle Baby Scheme i) K. Kamaraj
[C] Samathuvapuram iii) C.N. Annadurai
[D] Nutritious Meal Scheme iv) M. G. Ramachandran

Spésan_apge sflursl QUIGSSILLQeter @anem ag) ?

gliLib PEQMOEET
[A] wZlu 2areyd FILLLD i) Og Qguedlg
[B] Qsmined @yimss sl LLb i) @ &moyny
[C] swégaypd i) &b, Sjaramng/eny
[D] ségameyd gL LLD iv) .Gar @rrossnglyer

164. In the 1962 elections, the Dravida Munnetra Kalagam (DMK) was
supported by Swatantra Party. Who was the head of the latter party
at that time ?

[A] E.V.K. Sampath [B] C. Rajagopalachari

[C] K. Kamaraj [D] Omanthoor Ramasamy
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1962-g b yaw®s CsisaflanGung, slyrall. pearCadns spasms &5HSINE &4
9,57658. SLAung &5531rmé sLlullar saarts @wHsaf wri ?

[A] . Geu. &l &sbuS [B] & @rrgCamurenssnd]

[C] @ smogrg [D] guignt @rmosms)

165. Which Chief Minister introduced the Mid-day Meal scheme in
independent India ?

[A] N.T. Rama Rao [B] V.S. Achuthananthan

[C] M.G. Ramachandran [D] K. Kamaraj

555517 @pgluralled wIlu 2arad SILLjms flPsuLRSSIu swemwést wi ?
[A] @an 4. @pmoryrel [B] all. aeb. Fasneanpgar

[C] wGan @rrossnglyer [D] @ smnoyng

166. Assertion (A) : Agriculture continues to be the largest employer in
Tamil Nadu.
Reason (R) : Non-Agriculture sectors are yet to generate enough

employment to effect a shift of labour force.

[A] (A) is true. But (R) is false.

[B] Both (A) and (R) are true and (R) is the correct explanation of

(A).
[C] (A) is false. But (R) is true.

[D] Both (A) and (R) are true. But (R) is not the correct
explanation of (A).
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app  (A:  sdlpsssle  ellasmubn s puisEmsg Cameamilflamer  aphgls
Qanary 581 ng).

sryemd (R): o apliureriaer smaarg Ogmflosemer wrfls Qsrdreusnesd Csmeuwnar
SeralliE Camaamilysame allasnubaang gampser e manssaldma. .

[A]  (A) &l Syame (R) Seuny

[B] () wpmw (R) @rean@d &fl, Cogid (R) aeawg (A)-afllhg sflurear aflaréswngL.

[C] (A saum yeme (R) &

[D] (A) wpmd (R) @rem@id &), gy emned (R) erairug) (A) -allh@ sflwren aflaéswee.

167. Which of the following pair is correctly matched ?

City / Town Industry
[A] Ranipet i) - Leather
[B] Namakkal ii) Fireworks
[C] Erode iii) Poultry Farms
[D] Sivakasi iv) Power looms

dpssan_apgd ais Jenar sflursl Qurmssiu Harang ?

IDMBELD / HELD Qs harene
[A] @rrefluCuLlanL i) Gama
[B] prwése i) ulLns
[C] mCrr@ i) Gamfll uemenamsar
[D] #ausnél iv)  lers
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168. (i) Tamil Nadu is grouped among the high enrolment ratio states in
respect of school education.
(ii) This has been possible mainly due to the supply of free

food, free uniforms, free footwear, scholarship, etc.

Which of the above statements is / are true ?
[A) (i) only.

[B) (ii) only.
[C) Both (i) and (ii)

[D) None of the above.
(i) uearaflé soallemwls Aurmssaany sE1PHTH yglswrar Csrsms allglssmss
QararL wrFlomseld @eprs amalu@ssliLL(ereng).

(i) Qg srsSluwraspe psaawwrer smartsars @HUUg Qoas oare), Qoeass
EmoLsd, Qoauss sremsd, soaf 2salls50smms Curapmea aprsILELCS

9 GLD.

Cupsreariu@n sppsee slurama ag | ama ?

[A] (i) wL@W [B] (i) wL(hwd
[C] (i) wHmyd (i) @ramid [D] Cupsar_ agewn Gaome

169. As per the census 2011, which district of Tamil Nadu possesses the
highest literacy rate ?

[A] Chennai [B] Coimbatore
[C] Kanyakumari [D] Namakkal

102 of 120



2011 -gpib gy aminar wE&eT OFTanss samsda@lllar Ly, SEIPFI g6 aps wralLd wls
Iplsvrer seall afllgsmzs Qanerfererg ?

[A]  Qsarenar [B] Gamuwbysgnh

[C] sarafllungu [D] prvése

170. "Tamil Nadu developed a commitment to universal and well
functioning public services thanks to the power of
democratic action, public reasoning and social action”.

Who said this ?

[A] Amartya Sen and Jean Dreze.
[B] Dutt and Sundaram.
[C] Raghuram Rajan and Abhijit Banerjee.

[D] Milton Friedman.

'marprws  Qeudun@ad  UEssHlun  Sloar  sws  Qeuedun@sd o Sluapdlar
allmareurs  emeareums@rangld, FplyLer Qsudu@egorar  QurgEGCsmausemen

aprGasl® sUpETH sas Tiuamiliou aaisgerens).
Qaangy sglug w?
[A] Sjwisslur Qsar womw Per kCred.
[B] 85 wpmd s5510
[C] r@ymd prger whmb s unanye).
[D] Wlorer N Gwer.
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171. The most important reason/s for the relative success of Tamil Nadu
in extending social policies lie/s in :

(i) Near universal coverage of schemes.

(ii) Populist welfarism.

(iii) People’s active involvement in democratic politics.
(iv) Targeted distribution systems.

[A] (i) and (ii) only

[B] (ii), (iii) and (iv) only
[C] (i), (ii) and (iii) only
[D] (iv) only

spaé Qaramssamar allfloupdgasle gliiaalld slpsnyear apfés
6ls &l snyemons | snpamEisaTS allerEigaug ;

(i) FLLSHLL JmaraunTd 2.aersalus &l LEse
(i) éseteny pad Candrans

(iii) aapius yrfludled wasefla safly FEUE.

(iv) BasE feluflara aflfICurs wpeanse

[A] (i) whm (i) LA
[B] (ii), (iii) wpmd (iv) LA
[C] (i), (ii) whmd (iii) WL Qb

[D] (iv) LR
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172. Which is / are the reason/s for the success of
“The Tamil Nadu Model” of Public Health ?

(i) Tamil Nadu was the first state to enact a Public Health Act in
1939.

(ii) Creation of distinctive Public Health System at district level.

(iii) Good political commitment and leadership in Health sector.

(iv) Heavily centralized Health systems.

[A]
[B]
[C]
[D]

(i) and (ii) only
(ii) and (iii) only
(iv) only

(i), (ii) and (iii) only

Qurg &sngryssled “sUlPErR wrglN“lar Qaupflégs smyed | snyemmisan wrg

wrenel ?

(i) 1939 -gib gpargd @urg &stEmE sLLsmsy Quilu s Wl
56195n0.

(i) wralL gyaafld saflggeuwrer Qurg aarsmm wapaw goURSSWS.

(i) &angmys gapulled yrélwd Fglurer Hytuamfliy wHD Fmaamsgleub.

(iv) Quilgid ewwliL@ssIULL &&ETHTT LS.

[A] (i) wpgd (i) LLED

[B] (i) wpmd (iii) Ll @

[C] (iv) bL @

[D] (i), (ii) whmd (iii) wL Qb
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173. Which of the following is/are the correct statement/s regarding
Perarignar Anna with regard to the early days of the Dravidian
movement ?

(i)
(ii)
(iii)

(iv)

[A]
[B]
[C]
[D]

He understood that medium is the message.
He understood that affirmative action will lead to progress.

He used theatre and cinema as effective instruments of
communication.
He was a non believer in distributive justice.

(i) only
(ii) and (iii) only
(iv) only

(i), (ii) and (iii) only

girnellL Quéssgler s ss sramsamery QuryssoLgsd Curlen gjememm
upfu pésraud sapyaae sfluras/ma aglaman ?

(1)

(ii)
(iii))
(iv)
[A]
[B]

[C]
[D]

o &G0 Qs1g) aaruamg el b HHSNT.

2 NBILU@SHL pLagsmasd Wabadnsslie aflugsgn aaums
S AFHS GBS

Sjeuf BILEL LHNL Sleny JyTEGSmer saaie GsrLilsamear fpps
smallsemmall LwerL(\s8) e,

Sy uglipsells@n felulled puwéms Qandamseuf.

(i) wLHW
(i) whmd (iii) wLED
(iv) wLEW

(i), (i) wpmd (iii) LD
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174. Which of the following fact/s is /are correct ?

(i) Tamil Nadu has 30.50 % of its total population as urban
population.

(ii) IMR in Tamil Nadu is 17 per 1000 whereas the all India average
is 34 per 1000 as on 2016.

(iii) Tamil Nadu has come first in the Health Index Report as per
Progressive India Report (2018) - Niti Aayog.

(iv) Tamil Nadu accounts for 10% of leather exports and 50% of
leather production in the country.

[A] (i) only

[B] (i) and (ii) only

[C] (ii) only

[D] (iii) and (iv) only

UNeaumd smppsaled sflurmg/ma ag)/ama ?

()

(i)

(iii))

(iv)

50 Briger Guorss waser Gsrensulld 30.50% wasar paTULYEsarleD
&gl armani.

2016-Q gyl @nglu Syeraller Gpmssalar @niiy alldlg syrefl 1000-5@
34 aar @mégd Bloauled,  sUPETLLd Gubmssefa @nuy aflglsw
1000-6@ 17 <45 QMBS

B8 gy Gunsalar whCurssrer @hslu Syflseams 2018 Qe sarsny Gl E
Sflsmauled sUIPEIH Wse QLS 2drang).

priger Ggred ghmwglulled 10% GCgred opusglulled 50% sulppM e

BLET AL 2 aleng).

[A] (i) L@

[B] (i) wimwb (i) LW
[C] (ii) L@

[D] (iii) whgd (iv) LA
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175.

176.

Which district of Tamil Nadu has the lowest child sex ratio
according to census 2011 ?

[A] Madurai
[B] Theni

[C] Ariyalur
[D] Cuddalore

2011-gu1b g aper wiaar Agranss sarsOsOularLg, sHPET LT abs WIALLL
flaé Geparar Gpbmsl urdlear aflglssmss Qanarererg ?

[A] bgieny
[B] Cgarfl
[C] Siflugn
[D] sLai

If P denotes +, Q denotes -, R denotes X and S denotes =, which of

the following statement is correct

[A] 36R4S8Q7P4 = 10
[B] 16R12P49S7Q9 = 200
[C] 32S8R9 = 160Q12R12

[D] 8R8P8S8Q8 = 57
P aeiLgl +, Q areiLgl -, R areiiLg) X wgid S aerugl + erafler SPéaerapmle
ag sfluner sapm ?

[A] 36R4S8Q7P4 = 10

[B] 16R12P49S7Q9 = 200

[C] 32S8R9 = 160Q12R12

[D] 8R8P8S8Q8 = 57
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177. A Clock seen on a mirror shows quarter to three. What is the

correct time shown by the Clock ?

[A] 8 hours 15 minutes.
[B] 9 hours 12 minutes.
[C] 8 hours 17 minutes.

[D] 9 hours 15 minutes.
@® sgsmyd sarammgule urisgw Gurg GCpyod 3 wenll g& 15 PlilLmser 2.ererg
aes s1_(Elng aafled syamsgler sflurear Goyw ?

[A] 8 wenfl 15 Bl Eaer
[B] 9 wenfl 12 BlbLmiser
[C] 8 wenfl 17 FlSILRi&a
[D] 9 wenfl 15 FlSILRiger

178. If the volume of a cube is 1000 cu.cm, then find its surface area ?

[A] 100 sg.cm
[B] 400 sg.cm
[C] 500 sqg.cm

[D] 600 sg.cm

QO sasgrsgler sar e 1000 50818, aalld yger ypuurifees srears ?

[A] 100 5.0&.5
[B] 400 5.08.5
[C] 500 &.Q&.5

[D] 600 &.05.5
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179. A book contains 120 pages. Each page has 35 lines. How many

pages will the book contain if every page has 24 lines per page ?

[A] 170 pages
[B] 180 pages
[C] 175 pages

[D] 185 pages

gallanm usssglagw 35 afsmas Csrai. Ujsssglar Owrssl usstsear 120
aefld gelarm usssslgw 24 aflsams @mpsred UUssss3ldr QurssL

LESEE aHFmeanuns QméGw ?

[A] 170 U&SREI&ET
[B] 180 u&sm&ar
[C] 175 U&&EI&E
[D] 185 u&&m&ET

180. 12 men can complete a work in 36 days. In how many days will 18

men finish the same work ?

[A] 16
[B] 24
[C] 26

[D] 54
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2 gyraa @n Camamu 36 prisald Qsug wpusslaperi 9465 Camamu 18

Qy-&ar ahyemen praselle Gslg wuluriser ?

[A] 16
[B] 24
[C] 26

[D] 54

181. The product of two numbers is 432 and their LCM and HCF are 72
and 6 respectively. If one of the humbers is 24, then find the other

number ?

[A] 16
[B] 18
[C] 22

[D] 36

Qm eaarsellar Qumsspuee 432 whgd Smasdllea B.A.o. wHyd LU
weapGu 72 whgd 6 Y Ew. Jdbaarsals en aar 24 aafld wHCPIEG Taraamms
SNeHTE ?

[A] 16

[B] 18

[C] 22

[D] 36

111 of 120



182. Find the total amount if 15 % of it is Rs. 30007
[A] Rs. 18,000 [B] Rs. 20,000

[C] Rs. 21,000 [D] Rs. 25,000

@@ Ozresuller 15 % eerug (5. 3000 aaflld YH0sTMEMUE Fneiis ?

[A] (5. 18,000 [B] (5. 20,000
[C] (5. 21,000 [D] (5. 25,000

183. In a class, 40 % of students are boys. 60 % of girls are rank
holders. 40 % of students are rank holders. Find the number of

boys with rank, if class strength is 50 ?

[A] 2 [B] 4

[C]6 [D] 8
oM aEUlld 40% Guir wraraiser. 60% wreawallad gy GuipeTse. Qrds
wrames, Lreawallurselld 40% grpd  Quppaisd. eagldla Gworés wrame,

wramellwiseller aanafléans 50 eaafld, s7o Quip wramersellar eerenldma

GTenenm ?
[A] 2 [B] 4
[C]6 [D] 8
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184. Arun drives 120 miles at 60 miles / hr and then drives the next 120

185.

miles at 40 miles/hr. What is his average speed for the entire trip ?
[A] 42 [B] 48
[C] 50 [D] 54
S LAl @ ansasms 60 mwdsd /| wall aap Cassgle 120 @wose
gLOAprr.  Narart 40 evdsd /| wefll adp Cussdled OS5 120 @wosd
gLB&pmm aafléd Qursssgle ey symefl Causw aerear ?

[A] 42 [B] 48
[C] 50 [D] 54

In a flower garden, there are 23 rose plants in the first row, 21 in
the second row, 19 in the third row and so on. There are 5 rose

plants in the last row. How many rows are there in the flower

garden ?
[A] 12 rows [B] 10 rows
[C] 11 rows [D] 13 rows

@® WHGsT L8 wsed aflmsdled 23 Cprgrs OQeyaed, Qrewimd eaflensulle
21 Gyrgné Qenser, gerpmd aflesulle 19 Grrgne Qeysed aar @n Osrii aflas
ol odama soLdl aflesfld 5 Cprgre  Qsgsa  @muler

ILYHCEM 53D erssmen auflenssar o arerer ?
[A] 12 aflensser [B] 10 aflensser

[C] 11 alensaar [D] 13 auflengser
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186. If the average of the values 18, 41, x, 36, 31, 24, 37, 35, 27, 36 is
31. Find the value of x. ?

[A] 35 [B] 36

[C] 25 [d] 26

18, 41, x, 36, 31, 24, 37, 35, 27, 36 Qapflear synefl 31 aafld x Qe

w0y ereien ?

[A] 35 [B] 36

[C] 25 [d] 26

187. Which one of the following numbers is exactly divisible by 11 ?

[A] 235641 [B] 245642

[C] 315624 [D] 415624
Spésai aaizelle 1 gpéd Bueif) agupy aeir ag ?

[A] 235641 [B] 245642

[C] 315624 [D] 415624

114 of 120



188. What is unit digit in the product 784 x 618 x 917 x 463 ?

[A] 6 [B] 2
[C] 4 [D] 8

784 x 618 x 917 x 463 aaip Qumssdsafle) @epraig) Qwéswd aerer ?

[A] 6 [B] 2

[C] 4 [D] 8

189. Find the compound interest on Rs. 1,000 at the rate of 10 % per

annum for 18 months when interest is compounded half-yearly?

[A] Rs. 157.62 [B] Rs. 157.63

[C] Rs. 157.61 [D] Rs. 157.60

JruUraEE @6 o el yFgLe GCardsiulined . 1000-5¢ yemd iy

aig 10 % eigliLy, 18 LISHSEEEGS sl () el sTemajd ?
[A] (. 157.62 [B] (. 157.63

[C] (. 157.61 [D] 5. 157.60
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190. If the rate of Compound interest is 12 % per year and compound

interest is calculated every 3 months, then what is the total amount

after 9 months when the deposited amount is one lakh ?

[A] Rs.1,09,000.00

[C] Rs.1,09,060.30

[B] Rs.1,09,060.00

[D] Rs.1,09,272.70

GL aly dsd H@@sE 12 % aay dsssla 3 wLIEsSNE G Yo
sawsslLiUpD aaflld @n ols mund Cegssiull e 9 wrsw sflss Gurss

Qsrens erelauere) ?
[A] t5.1,09,000.00

[C] ¢5.1,09,060.30

191. If A:B=4:6,B:C=18

[A] 12 :18:5

[C] 18 :12:5

A:B=4:6,B:C=18:5

[A] 12 :18:5

[C] 18 :12:5

[B] 15.1,09,060.00

[D] {5.1,09,272.70

:5,Findtheratioof A:B:C?

[B] 12 : 5:18

[D] 5:18:12

, aafld A:B: C uler afldlgsnss sneis ?

[B] 12 : 5:18

[D] 5:18:12
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192. How many numbers are there between 200 and 400 which are
exactly divisible by 3, 5 and 6 ?
[A] 8 [B] 9
[C] 7 [D] 6

200-5@0 400-5@D QeLCuydear Qua eaarselle 3, 5 wHpd 6 S&lu ey
aarsaas Qsnen® Bguflen U@L aeamisd assmen ?

[A] 8 [B] 9

[C] 7 [D] 6

193. In a class of 80 students, 65 % are boys. Find the number of girls ?

[A] 35 [B] 28
[C] 52 [D] 38

80 Guir Qs agluapwld 65 % Guir gy arsd aafld Cuarsdler aaremllsms

Tssenen ?
[A] 35 [B] 28
[C] 52 [D] 38
194. Choose the best alternative of White : Peace : : Red : ?
[A] Roses [B] Heart
[C] Violence [D] Danger

fla& sfluner gerenns CanpasRs3) Qurr@g,gd&

Qeuarenar : Yjenwg) : : Flauly :
[A] CGpmggn [B] @swid

[C] auanpenn [D] SQumud
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195. Rs. 120 is divided among A , B and C such that A’s share is Rs. 20

more than B’s and Rs. 20 less than C’s. What is B’s share ?

[A] Rs. 10 [B] Rs. 15

[C] Rs. 20 [D] Rs. 25

A, B upg C aeap ey purser . 120 - @ uslipgy OsnaepwCung, A-6i
UE@ B-a1 umesallL . 20 &@serses, C- a1 uEmsallL @M. 20 Goparsad

AmHsned B-a LEE aalaaa) ?

[A] . 10 [B] (- 15

[C] (. 20 [D] 5. 25

196. If the sum of two numbers is 24 and their product is 108, then find

the sum of their reciprocals ?

[A] 2/9 [B] 3/7

[C] 5/7 [D] 9/2

Qm aarseller m@zed 24 wpgd SHaupflar Aumsss 108 aeafld eibaueisafler
soadflseflar apsd snairs ?

[A] 2/9 [B] 3/7

[C] 5/7 [D] 9/ 2
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197.

198.

Find the rate percent per annum when a principal of Rs. 5000 /-
earns a S.I of Rs. 1600 in 16 months ?

[A] 20 % [B] 22 %
[C] 18 % [D] 24 %
o 5000 Hsaué@ 16 wrzmseld @ 1600 safllaly LaLssmd, aly cifssmss

TGRS ?

[A] 20 % [B] 22 %

[C] 18 % [D] 24 %

The population of a village has a constant growth of 4 % every
year. If its present population is 32448. What was the population

two years ago ?

[A] 31424 [B] 28868

[C] 30000 [D] 31242

@® alynosglear wéser Agtans @Cr &ms geldan® yar@n 4 % sigd OanaiGL
Qeaglpg. QUAUNE s wEsaT Qgrans 32448 aafle Qrai® Y ATOSEHEEG

Weir LE&ACGINS TeiaTauTs QHHSMEGLD ?

[A] 31424 [B] 28868

[C] 30000 [D] 31242
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199.

200.

The area of a quadrilateral is 525 sq.m. The perpendiculars from
two vertices to the diagonal are 15 m and 20 m. What is the length

of this diagonal ?

[A] 25 m [B] 30 m

[C] 35m [D] 45 m

@® Brpsrdglear upliuere) 525 & 5. gygear Q@ c&flsalldlmiy paeallLislne
aeruiu@n Gsrgssla farmsdr 15 15, 20 18 aafld gaaalllLsslea faQuee ?

[A] 25 15, [B] 30 i.

[C] 3515 [D] 45 .

A wire can form a square of area 36 sq. cm. What is the area of

rectangle when the same wire forms a rectangle in which one side

is2cm ?
[A] 12 cm? [B] 18 cm?
[C] 20 cm? [D] 24 cm?

e® sblluterg sgr awadms eHarsgw Ounws s Uriuae 36 &0,
965 svllews Osrem® 2 Ozl @m uss e caLwu @@ Osdassing

2 Haurs@wung s0eeiaussgler Lrliuae) aerer?
[A] 12 &0Qs.5. [B] 18 &.08&.5.

[C] 20 &0s.5. [D] 24 5045
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